CTET L1 English L2 Hindi P1

Topic:- CDP_P1_CTET

1) Recent theories in the field of child development suggest that development gets influenced by
(i) genetics

(i} education
(ii) culture
(iv) ‘social policies

(1) (i) enly

(2) (i), (ii) only

(3) (i), (ii), (iii) only
(4) (i), (ii), (iii), (iv)

a1t T % &= § g g F Mg g TEiag #7d & 06 A garad gar

T

(i)  SETERAT &

(i) forms

(iii) TR &

(iv) TS AT &

(1) %= (i)

(2) Fa (i), (ii)

(3) = (i), (i), (i)

(4) (1), (i), (iii), (iv)
1[.Q1u?cs)[t3itci)or:] |Ig ==11]][Question Description = CTET_P1_PART_1_CDP_SET_102_Q1]
2. 2 [Option ID = 2]

3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Development of children occurs

(1) in an orderly manner but is individualistic in nature.
(2) in a disorderly manner suddenly at a particular moment.
(3) at the same rate for all children across the world.

(4) as a result of schooling only.



F=A1 FT A 9 YT & gar g ?

(1) =afeaa =7 T graT g Torq Sararias =7 § 37w grar g |
(2) w=rafegs =7 ¥, F= @i oo § == ¥ 9T AT 2 |
(3) T FAem & 7l =41 § UZHH" ITH ZA12 |

(4) ==t AR % oo 7 g g |

[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_102_Q2]
1 [Option ID = 5]
2 [Option ID = 6]
3 [Option ID = 7]
. 4 [Option ID = 8]

A wN =

is a primary agent/agency of socialisation and is a secondary
agent/agency of socialisation among young children.

3)

(1) Family; library
(2

)

) Parents’ workplace; neighbourhood
3) Mass media; family

)

(
(4) Law; religious organisation

Tle T=Al § FAATHAHLOT HT Tt FHATT § O#T
EGICESERCTL Rl SF\'I |

(1) 9=, ETRTerT

(2) ATHATHRT FT FIAETA; ATT-TS 19T
(3) =T |, TFEATT

(4) FTI; ATiE HTS

[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_102_Q3]

1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4) As per Jean Piaget’s theory of cognitive development, at which stage do most children clearly

understand Past, Present and Future ?
(1) Sensorimotor
(2

)

) Preoperational

3) Concerete operational
)

(
(

4) Formal operational



st T & wsmrens A F g F aqene, atgwi a== 5 qaear §
A9 gU T, FaaT T 9T F I H T T F qHA TAT A g ?

(1) FARITATHT
(2) TF-A AT
(3) = AT
(4) dra=rie JfFaTas

[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_102_Q4]
1 [Option ID = 13]
2 [Option ID = 14]
3 [Option ID = 15]
. 4 [Option ID = 16]

A W N =

5) In Jean Piaget’s theory, the basic building blocks of thinking are referred to as

(1) Reflexes
(2) Schemas
(3) Codes

(4) Concepts

stie foramst o g |, fvaq it givardr [t 1 & =7 8 SErsmar g

?

OLFSRERI
(2) =hET

(3) FF

(4) F=gTTT

[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_102_Q5]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6) According to Lev Vygotsky's theory, shape(s) development.

(1) Genes; Social

(2) Culture; Cognitive
(3) Nature; Emotional
(4) Emotions; Physical



A AT HEwT & a9, [EETL:EE AT ZAT/AA
e |
(1) ATHETS; AT FT4H
(2) HSATATHF; HEFIA
(3) ATATHF; ITH A F1LH
(4) oy HaT
[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_102_Q6]
1 [Option ID = 21]
2 [Option ID = 22]

3 [Option ID = 23]
. 4 [Option ID = 24]

A W N =

7) Lev Vygotsky emphasised upon the role of in the process of cognitive development.
(1) Language
(2) Cognitive conflict
(3) Reflexes
(4) Schemas

T ATIATeEhT o HSATATeH (s 7 Fiwan & et e o7 5« ffar g 2

(1) smaT

(2) F=TTTeAT g2
(3) Frg= Tt
(4) =EHT

[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_102_Q7]
1 [Option ID = 25]
2 [Option ID = 26]
3 [Option ID = 27]
4 [Option ID = 28]

AN wnN -

8) Both Lawrence Kohlberg and have given theories of moral development.

(1) Lev Vygotsky
(2) Jerome Bruner
(3) Jean Piaget
(4) B. F. Skinner



At @w 1 Mgy ot Fgaad & ara-any @7 s g bk
B a2 2

(1) & AT

(2) R e

(3) ST forarmer

(4) =Y. U, R

[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_102_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9) A teacher should be about his pedagogies.
(1) rigid
(2) inflexible
(3) flexible
(4) ignorant

T HEATTH 1 AT (AT TTATEAT 6 F7¢ 7 3687 T=5id 7 M1 A0 2

(1) 3= (=)

(2) Fre-er=rer

(3) THTAT (FF)

(4) ST
[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_102_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) Intelligence Quotient (I1Q) tests are often critiqued for

(1) their ability to measure a broad range of skills
(2) having an implicit western culture bias
(3) considering social influence on intelligence

(4) overestimating the influence of emotions of cognition

iz Td (1Q) T Y A =T T 41 %0t A1 g ?
(1) Freret =T FEga ST 7 q19 0 ITH SAHAT

(2) Teeq = F qI=TH HEpiol & TATA 7 Jo0d

(3) ATE 7% ATHTST TATT FT AT

(4) T TE ATAATAT F TATA FT ATTTT TTFFoT



[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_102_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) Assertion (A) :
When a student is struggling to find solution for a given problem, the teacher should encourage
the student to verbalise her thoughts.
Reason (R) :
Learning is more effective when teachers keep minimal expectation of success from students.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

HTTFIT (A)

so Az At Bt R 70 597 F1 g gan Y T 8 5= T g, 9 aerw
FT S qU (H=FTT Hitas q7C 97 A=A & & (o0 STeTed FeAT A0 |
7 (R) :

FTEnTT a9 Afgs TEEATAr gET g §d @eAms @wnigay F awerdr #
FH-T-FT ATHAT 7GT 2 |

(1) (A) W(R)Eﬁﬂ%ﬂ%aﬁ'{(m, (A)ﬁﬁ‘éfrwww. %‘
(2) (A) 3T (R) ZTe1 72T £ A (R), (A) F7 ot = a8 &
(3) (A) 7ET & Af (R) T ©
(4) (A) @< (R) 21T o1 &

[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_102_Q11]

1. 1 [Option ID = 41]

2. 2 [Option ID = 42]

3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) Genderis a construct while sex is a construct.
(1) social, biological
(2) social, moral
(3) moral, social

(4) biological, social



e Farfetfer & st ForeT PR 2 |

[

A wN =

(1) TR, St
(2) =TT, A
(3) &3, ATHATRE
(4) SrfaF, AT

Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_102_Q12]
1 [Option ID = 45]
2 [Option ID = 46]
3 [Option ID = 47]

. 4 [Option ID = 48]

13) A teacher should individual differences in learning preferences to facilitate learning

for all.

(1) consider

)

(2) ignore
) remove
)

(3
(4) downplay

T LTI FT AT F o afeeny ager-ae a9 F o afems gt
H ATeraen eTaral & Iia =0 FIAT1 ATMg0 ?

(1) 32 Tl ATHAAT AT

(2) ITHT AFAZET FHIAT AT(T

(3) F=T T 3T AT
(4) THA FEAT AT

[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_102_Q13]

1
2
3.
4

. 1 [Option ID = 49]
. 2 [Option ID = 50]
3 [Option ID = 51]
. 4 [Option ID = 52]

14) The main purpose of assessments should be to

(1) find ranges in students’ scores
(2) understand students’ learning progress
(3) identify potential failures and achievers

(4) assign grades to the students



ATHAT T A 3299 FAT AT AT ?

(1) FE=rTteT & =t i =TIEAT F AT T

(2) =TTt & #Hiae & 99T & Yid T8 aamT

(3) HATET HHTA AT TR [AEAT AT Tg=T FLAT
(4) =it =1 e /T 3T

[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_102_Q14]
1 [Option ID = 53]
2 [Option ID = 54]
3 [Option ID = 55]
. 4 [Option ID = 56]

A wnN =

15) Which of the following technique is likely to encourage critical thinking among students ?

(1) Asking for immediate response on questions
(2) Allowing reflection time to students
(3) Asking close-ended questions to students

(4) Discouraging interaction among students

feaferteaa & & ww-HT yfate fE=niaay § gare=aeEs =T f Teariead
¥ FFAl g ?

(1) T =T Faed IL =37 F 700 Hgan

(2) FEEnfa= i1 fFwet g 797 347

(3) =T E=T 7 S3-3id T 997 TIAT

(4) =TT o goeaT AT S Meeatgd Fe

[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_102_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) Which of the following hinders inclusion of students belonging to disadvantaged groups ?

(1) Stereotypes and set beliefs
(2) Child-centric approaches
(3) Formative assessment

(4) Consideration of individual differences



qifaer A= 792t & J9yg @ arer FEaia F awEes ¥ fefetea 9
= T sy S 2T 2

(1) =gz 9 =qfaa g

(2) FTA-Hfrzd TTNTH

(3) THATHF ATFAT

(4) FafFa F=aTall T eard a7

[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_102_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17) Dysgraphia poses direct challenges in
(1) Sketching
(2) Speaking
(3) Seeing
(4) Hearing

TEAEFCd TeAer T 7 5 Frerer § FAIAT 0 KL FAAT /297 § 2
(1) =F= I
(2) A=
(3) F@
(4) g
[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_102_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]
18) In order to successfully include students with visual impairment, a teacher should

(1) write as much information as possible on the board
(2) restrict the use of assistive devices in class

(3) verbalise the written information

(4) give very easy tasks only to these students



oAt ==t 7 TESar & A O 99 & [0 FEIT9E HT T FHIAT
2 <
=TT ?
(1) TSra=t afaeh S9a g1 7, ATEF | ATF TIAT0 991992 97 ferg=t F1i80
(2) F&AT F AHAF IR AT TAET ATCEF F2AT TR0
(3) T F==TaAl FT HITEH =T F FEIHT H7AT J20
(4) =7 Ta=nTal 1 Fae 9gd af 97 § H 39 A0
[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_102_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]

3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Which of the following is a typical identifying characterstic of students with Autism ?
(1) Highly developed social skills
(2) Impulsivity
(3) Impaired communication skills

(4) Above-average IQ levels

A dT A 7 s Fantagy fir gawtas aguw Roga feffaa a
T ?
(1) 3=% =0 | fAFaa grariers irerer
(2) @rrefierar
(3) AFHZ TFEYII FI9TA
(4) e | U7 gy afey =7
[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_102_Q19]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) Giftedness in children is characterised by

(1) low levels of intelligence
(2) high levels of comprehension
(3) easily giving up on tasks

(4) inability to perform simple tasks with focussed attention



F=a1 7 gtaarefterar B g 7 ottt gdr g ?

(1) Iz =1 w7 ==

(2) AT T 37 w7

(3) FHT Tl AT & FGrE 37

(4) TNE-GTE FAT HT ST Fiezd F2F FT I FT ALTAT

[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_102_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) Assertion (A) .
Schools should emphasize on curriculum aimed at constructing new knowledge.

Reason (R) :
Children are capable of constructing and interpreting new knowledge with support of teacher.

Choose the correct option :

(1) Both {A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

FIFTT (A)
=TT T THIH ST % T 00 A ATSd TIBIFA1 2 7 247 AT |
7% (R) :

T H ALATTH F HSANT F AA A F GAA A7 IHHT SATAT FLA FT qHAT
BT g |

wet AT g

(1) (A) 3 (R) 1T T & 30 (R), (A) 7 FEY =0T F7AT 8

(2) (A) AT (R) =TT | € oI (R), (A) it HET =141 751 8

(3) (A) T & AR (R) oI &

(4) (A) &% (R) FU1 T &

[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_102_Q21]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]




22) Schools should emphasise on

(1) reproduction of materials learnt
(2) textbook learning
(3) decontextualised learning

(4) constructive learning

FE=rmer T 1 B 97 F 397 =10 ?

(1) ET TS AHAT T 1 FT AT Fg 277
(2) ITEITET | HEAT

(3) HEHid arferTT

(4) T=ATHT AT

[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_102_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) In order to create a conducive learning environment, it is important to
(1) minimise opportunities for self-learning
(2) give chances for self-assessment

(3) promote competition among students

(4) follow standarised curriculum

ST SATENTH TTAel Jiord Fd = (070 =T Jg 0 ¢ 2
(1) =-ATa9rH F To10 =a1 7 F9 FT 347

(2) - g #FAT IAT

(3) E=ET & G Graar i J@rar 3490

(4) ATTEITT TETTAT T ATHLIT FIAT

[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_102_Q23]
. 1 [Option ID = 89]

1

2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]



24) Assertion (A) :
A teacher should encourage students to develop entity view of ability.
Reason (R) :
Entity view of ability motivates students to learn more effectively.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) Both (A) and (R) are false

HFFIT (A) :

FLqTTe A ATgw 5 Ag FEmEEr B angar #T ao7 g9dr v Eewe
e o greanriE T

T (R) :

T AT oo Hadt afvorer =t 1 Afds TaEaredr 940 § #@" 5
o At e Fear g |

(1) (A) 3T (R) 31 T&T 8 AT (R), (A) T ol =TT F2aT g
(2) (A) 3T (R) Z1eT @2t £ 7 (R), (A) F7 a2t =mear a5 &
(3) (A) BT g & (R) o 8
(4) (A) T (R) =TT T4 &

[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_102_Q24]

1. 1 [Option ID = 93]

2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25) Which of the following is likely to hinder problem solving ?
(1) Functional fixedness
(2) Cognitive flexibility
(3) Divergent thinking
(4) Reflective writing

feaforfaa 9 & s ST a9e F9eTT § da7re 957 g it G9Ear g ?

(1) FraTea= Fawar

(2) HSTETETE TAEAAT (AATATI)
(3) sy Haa

(4) FAmerter

[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_102_Q25]
1. 1 [Option ID = 97]



2. 2 [Option ID = 98]
3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

26) Assertion (A):
Teachers should identify the misconceptions carried by students and discuss those instead of
ignoring them.
Reason (R):
These misconceptions are a form of alternative conceptions which students often form based
on their interaction with environment and these are meaningful in process of learning.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) Both (A) and (R) are false

HTTFIT (A) :

HLATTHT T FATigy T F H=midan fi Fifadar FT 7g=1 F7 AT ITh0 dAq29(
FT F TN TH TL THT FY

T (R) :

T gitaal awfoTs dqIwmAr F BT g, S gFa7 FEedt gquw g Fer F 'y
e AT 7 AT g9 @9 g e T Afenr v afEhAT § K9 g |

(1) (A) 3 (R) Tr=1 721 & 3 (R), (A) it 781 == F7ar 2
(2) (A) 3T (R) =1t 71 § @i (R), (A) #T @l =T 721 §
(3) (A) TET § A% (R) T €

(4) (A) #7 (R) S 7o 2

[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_102_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Emotions

(1) significantly influence learning but don’t have any influence on memory
(2) have no influence on learning but significantly influence memory
(3) significantly influence learning as well as memory

(4) have no influence either on learning or on memory



:

(1) Afe T =T HAgTaT B ¥ TAMAT Tl g Teeq TG T TAHT Tz THE
el 9EqT 2 |

(2) @fenms o7 Bt T FT TEE TG0 STl At S A qgead 9 F
TATET FLAT 2 |

(3) ATERTH &7 AZTATI =T F T FAT ¢ AT B T AT T T |

(4) 7 T ATETH T THTAT Fodl g A1 7 20 S F1 TITET FAm 2 |

[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_102_Q27]

. 1 [Option ID = 105]

. 2 [Option ID = 106]

1
2
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) Students feel motivated to learn if the task is

(1) lrrelevant

(2) Unchallenging

(3) Related to their life
(4) Very abstract

ramft e & ufy afista o S et
(1) s 21

(2) e el e AT ET |

(3) I Sfrar & HEfR 27 |
(4)TgT ET AT AT |

[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_102_Q28]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) To facilitate students’ learning, a teacher should

(1) ignore previous knowledge of students
(2) not clarify syntax and structure
(3) minimise generalisation and transfer of learning

(4) avoid use of subject-jargons



A= = AfeeT 7 AT a9 o7 AEATTeh 0 AT FHeAr AT ?

(1) =Nt F 1@ T 7 JaEt FeAn ey
(2) ATFT-TAFATe &7 HTEAT TS A8l HIAl Agl
(3) ATERTH & AT ATHTHTIT AT HETI0r &1 FH FHAT A0
(4) fEuT 7 gEfa ees-srer F AR F T94T A0
[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_102_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Which of the following hinders learning ?

(1) Relating previous knowledge with topic to be taught
(2) Sense of alienation with school culture
(3) Implementation of multisensory approach

(4) Pedagogy based on constructivism

Feaforfes 9 7 e g afems 7 arer 3o grer g ?
(1) TET TETT T BT & SO T q=—G FAT

(2) A=t Henia | EgEar 1 9
(3) TgH=r=T UNTH T AT
(4) THATETE 9T AT feremerTesity arateat

[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_102_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_CTET
1) Ten crore twenty thousand two hundred three is written in figures as

(1) 100002203
(2) 1020203
(3) 1002203
(4) 100020203

TH FL(E A9 Z0L ZT AT A F1 60 H oy smar 2

(1) 100002203
(2) 1020203
(3) 1002203
(4) 100020203



[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q31]
1 [Option ID = 121]
2 [Option ID = 122]
3 [Option ID = 123]
4 [Option ID = 124]

A W N -

4 1
2) Which of the following fractions is less than Eand greater than 2 ?

.8
9

(27

e & & Ao e+ A S e L A
(1)<
(B
(3) 5

(4)2

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q32]
1 [Option ID = 125]
2 [Option ID = 126]
3 [Option ID = 127]
4 [Option ID = 128]

A W N -

3) What will be the value of K in the six digit number 56234K, if the number is divisible by 6 ?
(1o
(2)1
(3)4
(4)6

T A1 T HEAT 56234K, H K FT =T |19 gFIT, Af3 78 HwAT1 6 7 faarsT g7 2

(1)0

(2)1

(3)4

(4)6
[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q33]
1 [Option ID = 129]
2 [Option ID = 130]

3 [Option ID = 131]
4 [Option ID = 132]

AN wnN -



3
) In a class of 28 students, 15 are girls. If 21 students clean their teeth daily and gof the girls

clean their teeth daily, then state which fraction of boys are doing the same work daily.

(4) 12
13

28 Tt 1 v FAT | 15 wetFar g | Atz 21 FH=rdt gfafz ao7 =i a6
T TAT TR AT ¢ W AR A 3 AT FAr §, A7 e 7 e
T PRAAT G AT T20 18 Fdm 2 |

(1) 2
(2)2
(3) 5
(42

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]
5) Which of the following statements are true 7
(i) Every numberis always more than its additive inverse.
(i) Sum of any two integers is always more than each of the integers.
(i) Successor of =2 is-1.
(iv) Product of a number and its additive inverse is always negative.
Options :
1
2

(1) (i) and (iii)
(2)
(3)
(4)

i) and ( w)
i) and (
4

o S T e S

iii) and (W)



T 5 | F9-7 FIT AA ¢ ?
(i) S HEAT AT ATST TAATH T T34 T=1 211 g |
(iy T2t o 27 ol HT TR ST IO F 7 TeAT o 2T g4 g |
(iii) =2 =T 9Tadr -1 2 |
(iv) T AT ST A ATSA TAATH T [OT6e] H39 T g1 8
|
IEETE I
(1) (i) & (iii)
(2) (ii) & (iv)
(3) (i) & (ii)
(4) (iii) ¥ (iv)
[Qut;;tion ID = 335]][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q35]
2. 2 [Option ID = 138]

3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

3
9 A shopkeeper bought 138 boxes of apples each containing 24 apples. He could sell only 11?E
boxes of apples on the first day. How many apples are left with him ?

(1) 486
(2) 498
(3)510
(4) 522

T THEERE T AEl % 138 oeg, T a s § 24 a9 2, 7603 | iga R A
= e = 3 = = = . B = - -
T % Ao 117 o & a7 o | 9o T e o aw g g 2

(1) 486
(2) 498
(3) 510
(4) 522
[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]

3. 3 [Option ID = 143]
4. 4 [Option ID = 144]



7) Two angles having their sum 180° are always known as
(1) Adjacent angles
(2) Complementary angles
(3) Supplementary angles
(4) Linear pair

2T 0T TSTT AT 180° 8, 73 Figeld &

(1) ST F0T
(2) T FTm

(3) TETTH HI
(4) ¥fors T

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q37]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) Which of the following statements is nof true ?
(1) Sum of an acute angle and a right angle is always an obtuse angle.
(2) Sum of two acute angles is always less than a right angle.

(3) Sum of two right angles is equal to a straight angle.

(4) Sum of two obtuse angles is always a reflex angle.

et o & F19-a71 F99 77 Tgi g ?

(1) T ST ST W FAHERTT FT AN T2 TF AT F0T A7 2 |
(2) 3T "IAFHIIT T T0T T239 TH THHT T FH 20471 2 |

(3) 3T HHEHTUIT =7 ART T &S] F 0 6 T AT 2 |

(4) =T A2 FHIUH AT AT AT T TT=1 007 2T 2 |

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q38]
1 [Option ID = 149]
2 [Option ID = 150]
3 [Option ID = 151]
. 4 [Option ID = 152]

A wN =

9) Which one of the following groups of letters have only one line of symmetry ?

(1)B, I, H
(2)C,G,U
(3)D,E, M
(4)N, A, B



=T sraT-megel § \ e U e U qH e T g ?

(1)B, I, H
(2)C, 6, U
(3)D,E, M
(4)N, A, B

[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q39]

1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) Yogesh runs with a speed of 30 km/h and completes arace in 5 minutes. What is the length of
the race (inm) ?
(1) 2050
(2) 2500
(3) 2550
(4) 2600

79T 30 km/h T =TT & Srgar € A HET S A1 5 WA § g A g 1 9w
T2 #T AT warz (mH) 22

(1) 2050
(2) 2500
(3) 2550
(4) 2600

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q40]

1. 1 [Option ID = 157]

2. 2 [Option ID = 158]

3. 3 [Option ID = 159]

4. 4 [Option ID = 160]

") Shalu reached her sister's house on 18" January, 2020 in the morning and left her house on

e April, 2020 at night. For how many days did she stay there ?

(1)74
(2)75
(3)76
@77



9T I 18 W=, 2020 T AT AZH F =T TgAT AT 2 #%er, 2020 Fir 7T
FT ATT I Tt | T ST (hae (2 38471 2

(1) 74
(2)75
(3) 76
(4) 77

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

'2) The side of a square is 48 cm. The length and breadth of a rectangle are 1% and %
respectively of the side of the square. The difference in their perimeters (in cm) is
(1)10
(2)12
{3) 14
(4)16

T 97 T GAT 48 cm £ | TF AT FT TwETe S SEw 59 A9 57 g f7
TH: 1%H-m§ﬂ?ﬁéf|%ﬂ%uﬁwﬁffaﬂ'{(cmﬁ)%

(1)10
(2)12
(3) 14
(4)16

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

5 7

13) : ; RO T
What will be the next number in the pattern 2'16'64'256"

1] 8.
125
@ 3
284
(3_3
1024
4 _1
4096



[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q43]
1 [Option ID = 169]
2 [Option ID = 170]
. 3 [Option ID = 171]
4 [Option ID = 172]

A W N -

14) 540 persons were asked to vote for their favourite season from the three seasons — Winter,
Summer, Rainy. Data so obtained was represented in a pie chart. If the central angle for winter
season is 150°, then how many persons had voted for winter season ? (Assume that each
person has voted for one season only)

(1) 100
(2) 150
(3) 225
(4) 300

540 =1t 7 ofia, e & FuT SHqgal § 7 396 792 Fif =g To1 7= | 91

AEST A TT ATe T AT T | A= o Fag & Feald H007 150° AT, 97

Fhae =ferat 7 oftF =g #r aavs e 2 (Feuar i & g =t T %A

(1) 100
(2) 150
(3) 225
(4) 300
[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q44]
1 [Option ID = 173]
2 [Option ID = 174]

3 [Option ID = 175]
. 4 [Option ID = 176]

A w N =



15) Rahul saved some money every month from his pocket money as given below :

End of the month Total Savings (in %)
up to that month

January 80
February 140
March 210
April 285
May 375
June 480

Which of the following statements is correct ?

(1) Savings in May is maximum,

(2) Sum of savings in January and February is equal to the sum of savings in March and May.
(3) Least savings is in the month of February.

(

4) Total savings up to end of June is z 375.

g § AT O = § § uld 71 g = A, qar Aq= {an g

qTg T Hvd 3 HIg 7% F7 97 X F)
ELEEL 80
T 140
qr= 210
T 285
T2 375
ST 480
o= § & FI19-97 F47 981 g ?
(1) 7% & sfgFag a=7 g2 |

(2) AT ST FAL H g a=d BN AT 47 7% H g A4 AN & A6
2|
(3) TEH FH THT TALL A H g% |
(4) 57 AT F Hvq % F1 F7 99 X 3758 |
[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]

3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_CTET



1) According to National Curriculum Framework, 2005 discussions in a primary grade

mathematics classroom should be

(1) didactic in nature.

(2) based on mathematical concepts learnt inside the classroom only.

3) contextual and based on life-experiences of children.
)

(
(4) focused on solving problems given in mathematics textbook.

T UTE=EAT BUvET, 2005 F ATATE, WS w7 A a0E A w5 F
av==T gt AR |

(1) T & ITIATHF

(2) F=eT FHAT F AT g2 T T ATLTEOTA TL LT

(3) HEATCH T F==1 & A7 & ATHAT T¢ AETHA

(4) TTTOTE T TBTTETF | &1 5 GHEATA % THTL I Hiexd
[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]

3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

2) Which of the following is the most appropriate characteristic of mathematical language at
primary level ?
(1) It must be highly focused, specific and technical.
(2) It must be ambiguous and open-ended so as to make learning joyful.

(3) It should be reinforced through the language used by the child in everyday life.

(4)

4) It should not include mathematical vocabulary at all.

e § F FE-A s |\ 97 e 9T AT qGieE S uaE
fAforeeams 2 2
(1) T8 daters vsnr=a, geoee o7 griafass get J1g |
(2) ATERTH T ATA=HAT T (010 TF AFT= i A FS==ar et 9T #ir
T BT AR |
(3) =7 Sftaw & =41 ST IUANT &l A7 ATl 99T % HIEAH F 26 Jaied
FEAT AT |
(4) ZHE T SeRwg 7 faogar At afeafora 781 &ar smar =fen |
[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]

3. 3 [Option ID = 187]
4. 4 [Option ID = 188]



3) Which of the following is/are the most appropriate purpose of classroom assessment in
mathematics at primary level ?
(A) To inform and guide teaching-learning process.
(B) To provide opportunities to the learner to reflect on their learning.
(C) To create competition among |learners to improve their performance.
Choose the correct option :
(1) (A) and (B)
(2) (A) and (C)
(3) (B) and (C)
(4) Only (A)

L E e o e e 1 2 B o e e R ) s e e 120 £ G e e TR R 2 R s M-
FATER ?
(A) Toreror-sttemTe SRt 1 R0 F7AT U5 AT=e 3947 |
(B) ToreATi&=t 1 sk ATEH T7 5= F:29 F AFET T2 F:2A7 |
(C) Torermiat & 2w oumes & qam & oo gfEerar fir qm@EHr
T w37 |
el fased 1 =377 HTWT

(1) (A) ¥ (B)
(2) (A) % (C)
(3) (B) 4 (C)
(4) %= (A)

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

4) Which of the following is not a pre-number concept ?

(1) Matching

(2) Hierarchichal inclusion
(3) Seriating

(4) Approximation

et § & F19-HT JE=T-0d AEEE 7@t e ?

(1) e
(2) TR T THTEAGT

(3) FHEZ T
(4) e



[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q49]
1 [Option ID = 193]
2 [Option ID = 194]
3 [Option ID = 195]
4 [Option ID = 196]

A W N -

5) The children in a mathematics class are arranging the given numbers in the following order :

28,48,57,92
Which of the following concepts is being used by the children in arranging the numbers ?

(1) Proportion

(2) Place value
(3) Regrouping
(4) Approximation

i 7 Fer & =7 72 dest i FeRa sw femftm s g £
28,48, 57,92

E i = 8 T R = e 1 P B 2 ) e T B2 B =2 e e e 0 s e T
T e T 2

(1) TS

(2) =T 7

(3) T TR

(4) TferFz
[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]

3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

6) Which among the following is the most appropriate strategy for introducing the concept of place
value to grade | learners ?

(1) Write the place value of numbers on the blackboard and explain.
(2

)

) Write expanded form of numbers.

3) Use manipulatives to explain 10 as a bundle of ones.
)

(
(4) Draw place value columns on a chart paper.

=T | = FOreTiEat i FATA 0 A T AT TEATAT F % for et
H H HI9-H1 F99 ITIFT AT547 3§ 2

(1) 9ITHIZ T HEATH T =T 719 @ die 9937737 |

(2) et F Featta = 7 forfam

(3) F=T Fr9rer ATHAT FT ITANT F7d 10 FT THFF F T2 F =7 H AHAT |
(4) =TT AT & w=GT F =1 a7 77 = il |

[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q51]




1 [Option ID = 201]
2 [Option ID = 202]
3 [Option ID = 203]
. 4 [Option ID = 204]

A W N -

7) "Communication is an important process skill required in mathematics.” What do you mean by
mathematical communication ?

(1) Ability of the child to read the word problems quickly and correctly

(2

(3

(4) Ability of the child to write mathematical essays

Ability of the child to participate in mathematics quiz
Ability of the child to consolidate, organise and express mathematical thinking

)
)
)
)
“TTOTA | HAWO UF Hgeaqul AT TiaT 19 g | T #5990 § AT #4247
HHATE ?

(1) ZTAT FTATAT =TT S5 TAT HET TN 7 T@ il = 0 AqaT

(2) T oAt § G o« F1 T=2 Fil FHAT

(3) T A =7 aH T, duied UF FT9=0Fa F749 Hi1 T=9 5 Aqq7

(4) sivrer e forae &t 9= i g9ar
[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]

3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

8) When asked to find out 354 + 89, a primary grade student, solves it in the following way :
354+99=354+99+1-1=354+100-1=454-1=453
The strategy used by the student to find the sum is known as

(1) Substitution

(2) Addition-Subtraction
(3) Compensation

(4) Partition

S 354 + 99 F | AT FA * forw Fgr w2, 7 yrrfas @ % Femft =
e w1 | 39 g T

354 +99=354+99+1-1=354+100-1=454 -1 =433

ST ST %2 o [@=rmeff 2w AEia/FE=ii Faart g

(1) e
(2) AT - aHA
(3) s
(4) FaTm/faarsT

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q53]
1. 1 [Option ID = 209]




2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

9) Which of the following is nottrue about mathematics ?

(1) It is based on empirical evidences to prove different mathematical truths.
(2) ltis based on deductive reasoning.
(3) It is a creative discipline and has aesthetic value.

(4) ltis validated by reasoning.

fAeaforfera § & Fra-a7 7t % d=4a § 75 ag@fis ?

(1) ATa= wfd 21t &1 gy #71 F o0 98 aqease/aqea g
AT T7 AT 2 |

(2) Ig TTHATHF Toa= 97 dramiig g |

(3) TE TF TEATHST [HTI-S ¢ AT THHT AI&AT7F o7 ¢ |

(4) =7 7% a1 AdiFa/atarE B s g |

[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q54]
1 [Option ID = 213]
2 [Option ID = 214]
. 3 [Option ID = 215]
. 4 [Option ID = 216]

AW N -

10) ‘NIPUN’ Bharat scheme that ensures every child in India gains foundational numeracy and
literacy was launched by the Education Ministry of India under National Education Policy (NEP)

2020. 'NIPUN' stands for

(1) National Initiative for Proficiency in Reading with Understanding and Numeracy
(2) National Initiative for Proficiency in Writing with Understanding and Numeracy
(3) National Initiative for Perfection in Understanding and Numeracy

(4) National Initiative for Improved Pedagogy in Understanding and Numeracy

oty forar #if 2020 (NEP 2020) ¥ siat, qrear foram semers g7 Ao
AT AT H1 9= it T2 ff S 9ed® o § AT aenssar
ATAZAT &l qAT9AT Fal g | ‘=Yr 9@a &1 @ a9 2

(1) 9T THOHATET FT THHAOAT 29 ey A3 dsveien uve =t

(2) T TANAT A FIT TITHIOHT 7 TO2ie91 A7 deeeie v =aH]

(3) T T A RIT TOREIT 29 SETeied Ug =H o T

(4) e THITIMIfEA v TryEe TENTIe 30 HETRa e U =y

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]




11) Class | and Class || NCERT books have chapters based on listing out daily activities in a
child’s routine; the days of a week, days of months, change of weather etc. Such chapters :

(1) Convey no meaning in 2 mathematics classroom.

(2) Make mathematics textbook colourful and fun to read.
3)
)

(3) Help students learn the standard units of measurement.
(4) Help students to learn the concept of time contextually.

NCERT T &7 | 3T Faw || Y 9=l § U7 915 g &1 B 7= =1 I=F

TATETEET 7 G=5ta6g F90 97 1 & (501 9%, FeMl & fa491 9%, §799 &
TfEdy, sfs 9% watha g | TH 113

(1) Tiore =¥ FeT F T onF 7 9t 98l F9a ¢ |
(E}Wﬁlﬂaﬁwlﬁwﬁw-ﬁﬂTUﬁrawquoh T 3 |

(3) A== 1 A19F FF AFF THTAT FHET F TEAN A g |

(4) =TTt &7 A9 #T AAATION il HEHHE BT F Hi@d J GgA0 73 3 |

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) Which among the following is/are part of the key processes required for developing creative
thinking in mathematics ?

A. Recognising patterns and relationships
B. Formulating hypotheses

C. Using a given formula to solve problems

(1)Aand B
(2)AandC
(3)BandC
(4)Only B

FeffEa 5 7 FI9-90/F T § gOaeaE =a9 & @ae & o0 =27 Tl
T UF AT 2/ ?

A. TET TAT HALT HT TEATAAT

B. uf=heqamd swm=T

C. TRU T T3 FT TUTRT T THETAT T HHTETT FHLAT

(1)A & B
(2)AdFTC
(3)BHC
(4) =T B




[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) According to National Curriculum Framework 2005, the most appropriate way to develop a

positive attitude towards mathematics and a liking for it in primary grade children is to

(1) provide opportunities to enhance cognitive skills for learning mathematics

(2) use mathematical games, puzzles and stories to make connections between mathematics

and childen’s life experiences
(3) use an aptitude scale to find out children’s score on it and provide remedial measures

(4) frequently organise sessions by experts on importance of mathematics in everyday life

TTAT UTATFAT ®92ET 2005 F AGATE, TAHE &7 & 9941 | [0 & 0

w1 TA & HFRIcHE SEH0 FT AT F2d F1 999 374 AN 2

(1) 9T = ATERTH g ST ® FIat § iz F 0 d99¢ =20 F7A7

(2) TOTT UH T==1 & SAT & ATFAT |, TOAET FAl, Tgrerdi A% Fgiadi w0
THART F7, e FATAT

(3) ATHATAT e FT ITANT FT F=41 FHT THOH FHAT TA Iq=141 &R
TETT FTAT

(4) =F== stra F i = "7gw7 97 Forasti grr 770 &1 Mas AT AT

[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q58]

. 1 [Option ID = 229]

. 2 [Option ID = 230]

1
2
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) When asked to solve 12 x 25, a child uses the following method :
12x25=3x4%x25=3x100=2300

As a constructivist mathematics teacher what will be your reaction to the strategy used by the
child ?
(1) Accept the answer but tell the child that it is not the right way to do multiplication.

(2) Instruct the child to seek help from other students to solve the problem using correct
algorithm.

(3) Appreciate the child and encourage other students to come up with different ways to solve
the problem.

(4) Appreciate the child’'s answer but advice him/her not to use this method in examination to
solve the problem.



star 3T =9 #7112 x 25 &7 gar Awra & o g v4w, 99 399 [eaterrad
EIEERGIES

12x25=3 x4 x25=3x 100 =300

T F TH TEATETET (U BT H, g=4 T TIFT &8 9% SRt A
giaTHaT ZHT 2

(1) T =Ty e &= #0 Fqr0 26 Ui i $1 a4 Jaf Bia gl g

(2}ﬂ=ﬁwﬁﬁﬂ3mﬂwwwm=7ﬁ?r$ﬁvﬁﬂmﬁ?ﬂﬁ‘ﬁ'ﬁ
HAETFAT @ T 29T % |

(3) F=2 T FLIAT F< & &= A== #r ff w97 gor F27 F forw [Are=
SEAED B 1 -1t e o e =l

(4) T== F ITT H ALEAT F¢ (e I AATE 3 136 TET F 997 g Feed = oy
= =T FT I T 77 |

[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

15) Which of the following statements is least likely to be one of the characteristics of levels in Van
Hiele's theory of geometric thinking ?

(1) They are age dependent
(2

)
) They are sequential

(3) They are experience dependent
(4)

4) They are developmental

feaforfaa Faet § 7 F=-A7 F99 39 0 Hr @Ay =ag F HEe (o)
H =71 HT 7F B F AT A ar g ?
(M T arg 7w e g
(2) T AHET &
(3) T AT T AT g
(4) T FA=FTaTeHT 3
[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_102_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]

3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_CTET



1) With respect to the location of the capital of India the directions of Lucknow (Capital of Uttar
Pradesh) and Jaipur (Capital of Rajasthan) respectively are

(1) North-East, North-West
(2) South-East, South-West
(3) South-West, South-East
(4) North-West, North-East

AT T AT 60 T F A0 T@9S (STL T290 1 TodTT) 37 997
(FTSTELTH 1 TSy T Femw w2

(1) S92-14, I9-9199H
(2) FFHOT-I=, FTET-afe=TT
(3) FFoT-afegy, FreroT-IH
(4) S7-979=H, I97-19

[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_102_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2) A teacher is recruited in a school in Maharashtra. She is teaching about food and she gives an
example of ‘bharli vangi', which is a dish made of

(1
(2
3
(4

stuffed baby eggplant preparation
plain lentil stew
creamy dish of fresh pomfret fishes

curry made of potatoes, cauliflower and tomatoes

T o e S

T Tt A iR gerTr F uw PEmew g2 2 ) 78 Gea § A
UET Yel § a9T A "WTAl AT T II1G0 Il g S 1o U =4 g 9 a7 g

(1) B 7= = "

(2) FT=T FTT AT THLEA (¥5)

(3) ATSIT TTHRE AGTTT FT AT I =T
(4) AT, TEIHT FAT ZTHET FT F0

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_102_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]



3) The feathers of the birds are of different colours, shapes and sizes. Their feathers help them to
fly and
A. eat different types of food
B. keep them warm
C. walk in different ways

D. keep them waterproof

(1)BandC
(2)BandD

(3)B, Cand D
(4)A,B,Cand D

aferat % g AT 1, Al UF 9T & g ¢ | 394 1 I 94 ° "grAar
FId g qAT

A. TRTI= T =1 dIsTa °@re §

B. ¢ T AT E

C. Afd ai=i T =aa §

D. 3¢ SEHg I 2

(1)B&#=C
(2)B&#=D
(3)B, C #*D
(4)A, B, C #¥ D

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_102_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4) Animals that lay eggs have following characteristics :

(1) external ears and hair on their bodies
(2) internal ears and no hair on their bodies
(3) external ears and no hair on their bodies

(4) internal ears and have hair on their bodies

ST 7Y AT T &, I (e teriae faergard gram g
(1) S7F AT FT9 TF AT ITATA Z1 2 |

(2) I AT 1 grd g Ud 9T I F7 7gl gid 2 |
(3) T ATELT FT9 BId & T A0 9% ATl A1 B 2 |
(4) I AT 7 UH AL T ATA 2l 2 |

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_102_Q64]




1 [Option ID = 253]
2 [Option ID = 254]
3 [Option ID = 255]
4 [Option ID = 256]

A W N -

5) The name of the first Indian women who reached the peak of the Mount Everest and pitched
the national flag and took photographs of the event is
(1
(2
(3
(4

Karnam Malleswari
Sunita Williams
Suryamani
Bacchhendri Pal

T e e St

TTCET Ay (TAAT) STeT 7 g et A &=, &

(1) FOT HeereaLy
(2) Feita e

(3) =t
(4) TEET TTT

[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_102_Q65]
1 [Option ID = 257]
2 [Option ID = 258]
3 [Option ID = 259]
4 [Option ID = 260]

AW N =

6) Which of the following statement(s) is/are true regarding Manipur ?
A. Manipur means ‘Land of Jewels’.
B. Lavani is the folk dance of Manipur.

C. Loktak lake is known for circular floating swamps called
phumdis.
D. Manipur is the largest producer of bamboo products.

(1) A only
(2)A,CandD
(3)A,BandC
(4)Aand C



eferfas § F F19-a0F F97 700 F T 9 785 22 ?
A. AT T 9 g a1 #7397 |
B. #TaT AT T &% T4 2 |
C. ©Thesh TTel STAT ST & FHaET ATHF AR a2
T TRl & o |
D. R &1 % IeAT31 T TH AT ITATIF 2 |

(1) et A

(2)A, C T D

(3)A, B & C

(A AFTC
[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_102_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]

3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7) Work is something we do to
A. eamn fame
B. have fun
C. support oneself and others

D. save energy

(1)Aand B
(2)Band C
(3) C only

(4)CandD

A. T9T FHTH F T

B. gaTw & form

C. ST FT T =T T T FEIT/T7o-arom 5 form
D. &9 T4 & forg

(1)A#TB

()BT C

(3) ¥« C

(4)C 3D
[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_102_Q67]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]

3. 3 [Option ID = 267]
4. 4 [Option ID = 268]



8) Which of the following is true about an elephant herd ?
A. Their herd always has two or more old male elephants
in it.
B. Their herd has all male elephants and baby elephants
living with female elephants.

C. Male elephants live in the herd till they are 14-15 years
old.

D. Their herd has only female and baby elephants.

Choose the correct option :
(1)Aand B
(2)Band C
(3)CandD
(4)Aand D

FIAT % g & a1e § f=tortad o ¥ Fq-a7 91 g ?

A. 3% T H 4T 3T AT IO ATeF 7 ZrdT 29 2 |

B. 37 g § ATL 9T AT g1d § TAT AT F T=4 AT
FAIERUERGIR s

C. 77 g4t = F AT 14-15 a9 FT A T /A ¢ |

D. 37 e ¥ Faw AR a7 AT % 79 B & |

g1 faFeT F1 =79+ Fife

(1) AT9T B
(2)BF4TC
(3)CqATD
(4)ATITD

[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_102_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9) In the textbook for class V a map of Golconda Fort is given. On the right bottom of the map
following scale is printed.
Scale 1 cm = 110 metre
If on the map the distance between the Fateh Darwaza and Patancheru Darwaza is 15-2 cm,
the actual distance between these two places is
(1) 1-520 km
(2) 1-652 km
(3) 1-672 km
(4)16-72 km



FET V T TEALETH § TrAhisT et 1 A== {2297 797 2 | 29 92 30t 9=
T A I FAT S

AT 1 735 = 110 HizT

T TH A U7 Fidg AT Y TEq=% LA F o= H7 T 152 79T g,
AT 29 JAAT T o o1 il A6 T g

(1) 1-520 FreTET
(2) 1-652 FraTE
(3) 1-672 frare=
(4) 1672 e

[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_102_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Sona's friend Tara is from Mizoram. Tara has difficulty in speaking Hindi because in Mizoram
the main languages spoken are

(1) Khasi, Assamese
(2) Mizo, Lusei, Kuki
(3) Meiteilon, English
(4) Mao, Bengali

HTAT &1 Tgot aT HAeT 7§ 2 | G &7 Bl araq § Tt grAr ¢ #ih
THASTH & FTeAT ST9 31T JH9@ 9170 2

(1) ATHT, AFHT

(2) P, o, T
(3) HAAT, HAUST
(4) HTAT, &TAT

[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_102_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11) Petroleum and Coal are known as non-renewable fuels because they

(1) cause pollution
(2) are expensive
(3) are obtained through fractional distillation

(4) take many years to form



TETTOTT AT T T ATATHIIT eI Tl ST 2 FA T
(1) 9390 FHATT B
(QTETEEE
(3) TATST ArEA & 1T 9T &0 & 2
(4) T | T TqIA A9A 2
[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_102_Q71]
. 1 [Option ID = 281]
. 2 [Option ID = 282]

3 [Option ID = 283]
4 [Option ID = 284]

A wnN =

12) Mountaineers carry oxygen cylinders with them because they need it for

(1) Cooking food as availability of fuel is less in mountains.
(2) Keeping them warm by burning oxygen in it.
(3) breathing as less oxygen is available at high altitudes.

(4) Putting up support for tents.

(1) =TT TFTT & T #9110 Tadt § 22 i STAsadr F7 gral ¢ |

(2) ST T ITH 7@ F [T IEH ITTEIT ATFH ST T AT 7 |

(3) |T @ = fT it A8 SATeAl 9% A S A qrA FH HAdr 2 |
(@) T F T EER F T |

[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_102_Q72]

. 1 [Option ID = 285]

. 2 [Option ID = 286]

1
2
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) Three Indian states having coast on the Arabian Sea are

(1) Karnataka, Tamil Nadu, Andhra Pradesh
(2) Maharashtra, Karnataka, Puducherry
(3) Goa, Maharashtra, Kerala

(4) Telangana, Kerala, Karnataka

FTF FITT & A1 AT qeadl Ta9r (7757) 2

(1) FATEH, AHAATS, AT T=Z2T
(2) TETETTE, FATEA, TR

(3) 3T, HETICE, T

(4) TETIAT, 7T, Frlesh

[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_102_Q73]
1. 1 [Option ID = 289]




2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) The traditional dance of Rajasthan where veiled women dancers balance seven to nine brass
pots on their head is known as
(1) Kalbelia
(2) Kathak
(3) Terah Taali
(4) Bhavai

TS T qEFA o7 o g5 A1 qigar germmmn @7 07 /59 7 1
oI T T HATAAN 3, FgeAral 2

(1) Freraferam
(2) 79

[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_102_Q74]
1 [Option ID = 293]
2 [Option ID = 294]
3 [Option ID = 295]
4 [Option ID = 296]

A W N -

15) Madhubani is a famous
A. Lake in Rajasthan
Shawl! from Bihar
Woven saree from Andhra Pradesh
Form of folk art Paintings from Bihar

Place in Bihar



qYEAT U qg

A. =TT 2 TTereT |

B. fagr= #t erfer g

C. &g 9= A 1 g2 AIET &

D. fagr™ #1 uF I Y Srh-Ferm =HAarir g
E. fogre &1 7 ¥ g

(1)A#TB
()BT C
(3)B, D #TE
(4)D #H* E

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_102_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

Topic:- EVS_Q76-90_P1_CTET

1) Shaobhit observes a pitcure in a book where girls are shown playing with pebbles and boys are
shown playing cricket. He asks his teacher that why are boys and girls playing separately ?
Why are boys not playing pebbles ? Why are girls not playing cricket ?

Which of the following EVS teaching objectives are included in this event ?
A. Development of higher level critical thinking.
B. Development of broad cultural attitude and aesthetic sensitivity.
C. Development of an understanding based on observation and picturization.

D. Development of cognitive ability for generating curosity about a social event.

(1)A,BandC
(2)B, Cand D
(3)A, BandD
(4)A, Cand D



oTiTere Fama § uw == 3=Ean g, S0 asf@Egt & Tiear aaq 297 qTEF &
e Terd g REm T 74T 8 | 78 A9 JE5ATTE H IgAar ¢ & ash @i astEal
H-AT FI1 @A Tg ¢ ? TeF MTedl FAL Agl Jd 7g g ? ASHAl e =00
TR I T E 2
Feaforfad § § F19-5 T97E70 Aeqad T8I 32977 30 92471 § AAtid g ?
A. =9 T AAFEATHS 919 AFiad 5247 |
B. ZATTF ATEFa® T9AT UF He2d & Tid G421 @ ad w5 |
C. s A =30 & s o7 967s FAFad F997 |
D. ATHTIST: HedAT % a1¢ § fWsrg a9 F o SSeeen f6

A=aT 77 |

(1)A, B @@= C

(2)B, C &= D

(3)A, B #® D

(4)A, C &T D

[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_102_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]

3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

2) As an EVS teacher, you want to introduce the theme of ‘Seasons’ to your learners of class I.
Which one of the following would be the best pedagogic strategy ?
(1) Use charts and books to explain the concept of seasons
(2) Use videos of seasons to later explain seasons on blackboard

)
)

3) Use newspapers to read about articles on seasons
)

—

4) Use food habits, clothes worn and relevant local literature to develop interest in seasons

TATHEOT AT % T fIrersw F = O, Ay Fe7 1| F e Fenfhat F awe Fer
AU TETAT FAT "G g | Metortad § T F19 U 399 forrarsiT gt
Zrft 2

(1) HIe T g AHATT % (0 ATe TA Teaahl 1 SqaT

(2) eamaz 97 forgd Ao swqu &7 912 § "9 & o smaar F &firear v
EERIL

(3) S I ord @vg 9z & fory J9r=re-a=t F1 ITIHT

(4) adt & FwT § == 71 BEw 727 F o JOioe #7 arEat, 58y & ae i
A GEIaT 2T Ariged FT ITAN

[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_102_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]




3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

3) Which of the following statements are the correct description of the nature of assessment ?
A. It is a part of teaching-learning process, that is continuous.

B. It acquaints about the achievement level of students and what they don’t
know.

C. It diagnoses the hindrances in learning and helps in their removal.

D. lt acquaints about the tendency to learn, interests and prior experiences of
students.

(1)A,Band C
(2)B, CandD
(3)A, CandD
(4)A, B and D

AR el § & FI9-T FIT AR 0 THd 5l Al AT Fd g 2

A. Toreror-srfemTs it 95T T U & 2, S A9 F9aT T2a7 & |

B. fE=niaat & guefed ¥¥ 9T Irg F4T qa! &AdT1 g, F I1% F AT
AT Z |

C. & | Are FTATAT FT T47 T Svg 37 F99 § J9gdF ¢ |

D. Br=nfiat 7 i £ yafy, =~ 78 o agedt F aw & ey
FAT 2 |

(1)A, B 3z C

(2)B, C #* D

(3)A, C #* D

(4)A, B = D
[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_102_Q78]
1 [Option ID = 309]
2 [Option ID = 310]

3 [Option ID = 311]
4 [Option ID = 312]

A w N =

4) As EVS teacher of class V, in the chapter ‘Walls Tell Stories’ you need to introduce learners to
historical monuments, which method you think will suit best ?

(1) Virtual tours, online games and quiz related to historical monuments

)
(2) Passage reading on historical monuments
3) Visits to local historical monuments followed by discussion
)

(
(4) Lecture discussion method to explain the past of historical monuments



FT V F T9990 FE O F wY H, U Sredr THIa & M Aot
& FI9-#1 F=fdr wrerar 397 grft 2

(1) TfagTaF THal & Satad A9l 97, AT-w129 G AT Toar

(2) nfaerfae THTAl uT TR =g 1B

(3) TATe T Ui ZHAl 7 GH ST Tea9ATq 39 TC FA0

(4) TTagTIEE ZHITAT FT YAFRTT THATT & [0 AT -=T=1 [Ater

[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_102_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

5) A teacher asked students to draw an ant. Some students made 4 legs of ant while some made
6 and some 8 legs. What should the teacher do ?
(1) Tell them that ants have 6 legs and not 4 or 8 legs
(2) Tell them that students who made € legs are correct and all other students are wrong
3) Show them a picture of an ant and ask them to observe the number of legs
)

(
(4) Give them a magnifying lens and ask to them observe the number of legs in an ant

eI ARTEAT | UE =il w1 =T A7 FFT g | T 2wl =Hilr F 7w

U7 59T g, STaih T3 Sig A% T8 A3 9% I 2 | AT T F47 FHAT A0

?

(1) T2 FgaT =T 6 FET F =g 9T ga 8, = AT A0S 7l gid

(2) =g Fgar =iy % o faenftiai & og & a9 €, 3 951 § o avhr o+t
(ERIRIRIEE

(3) T7g =er 1 == R 427 &t Hear T9+ F oy wgay F1igw

(4) T2 AT GH T, VAl & G701 Hl G T ZGT F [0 FHgar A0

[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_102_Q80]

1 [Option ID = 317]

2 [Option ID = 318]

3 [Option ID = 319]
4 [Option ID = 320]

A wWN =

6) As an EVS teacher of class IV, you have to indroduce the concept of astronauts to learners.
Which method will you follow ?

(1
(2
(3
4

Explain the definition of astronaut and ask students to memorise
Deliver a lecture on astronauts

Share biographies of astronauts of India and then highlight main features

" o e e

Share stories on astronauts to help students understand the concept



T IV F T demae & e % =7 F, arow Fentat w sttt
T HIT TEATAT FAAT S | THIAT AT FI9-5 THH T AT FA 2

(1) FEErta=T =1 dateat=agt fit afvaraT a9ET @7 0= 99 T (0 FHign
(2) FFTTELATERAT U7 UF =ATITH A9

(3) WITA & FATTAATIHAT FT ATCTFATT FqTAT HTorw die Ieht g7 Foraara
(4) siafremrfeat it Fzifvat aem fifs s Fenfit 5t B £ g §

[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_102_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

7) Yash asked his teacher, “Why some food-product packets are |abelled with red while some
food-product packets are labelled with green dot ?”. Teacher explained that green dot indicates
vegetarian food while red dot indicates non-vegetarian food. She asked students to observe
various food-product packets and enlist them as vegetarian and non-vegetarian. Which of the
following processes are involved in this activity ?

A. Identification
B. Imagination
C. Bias

D. Classification

(1)Aand B
(2)Band C
(3)CandD
(4)Aand D



TN T AT ALATTH H TN, “F AT IATI F THe T L Aer 70 2, FAh
T AN ITATRT % The I% T T 99 ¢ 27 | AT THATT ¢ 0o 1 M0eA
IRl AT TAT AT qed FAATET JT R0 q=aT F3d g | Fegmah o
=it 1 fAfae e STmel F 392 3997 3w ATHRgrl A94T ATERET §
THTEaE F39 F Fgl | 27 Aty § Aeferies § 7 $19-H7 g o g 2

B. Feg«r

C. TaE
D. FIfrHeor

(1)A#TB

(2B#TC

(3)C#H= D

(4)A &= D
[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_102_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

8) As an EVS teacher, you decide to familiarise students with contemporary issues related to
environment. Which one of the following would you prefer ?

(1) Ask students to watch news channels

(2) Ask students to subscribe to newspapers at home

(3) Relate relevant articles in class and also share them
)

(4) Talk to parents to ensure newspaper reading at home

TF TATEEN g e F o #, guq Ferlat v ouataew ¥ #5469t
HHHTATT HEl T T=d Farn g | Hetaieg § T Qg &5 arafE=war 397 2
(1) FE=TAT T F91=1 97 397 & o7 Fwigir
(2) =TT T 97 9T HHTE-931 67 gk a9 & o7 Fgdl
(3) FAT | HITET GT FT Ioo17d Fod1 U5 Ieaht AT T H7
(4) % 9% AT T59 AT GRE=T F27 6 o qra-ioan & s H407
[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_102_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]

3. 3 [Option ID = 331]
4. 4 [Option ID = 332]




9) John is forming animal shadows with the help of his hands and asks students to guess which
animal is being formed in the shadow. Which of the following processes are involved in this
activity ?

A. Prediction
B. Observation
C. Inference

D. Description

1A, BandD
2)A,BandC
3)CandD
4)AandD

(
(
(
(
I B B 2 e P 2 e B s L 7 e Rt e e B | R ol E 2 R
HETAT T FT FgdT & 1o Togls § HF-A1 A97 a9 121 2 | TF Taraieg o
Feaforfaa § & Fm-H1 9 onfEaa g 2

A. FFE

B. dAFAT

C. ey

D. F0H

(1)A, B &= D

(2)A, BEEC

(3)C #® D

(4)A T D
[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_102_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]

3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

Al

10) Integrated perspective in EVS denotes which of the following ?

(1) Draw insights from science and social studies
(2) Draw insights from social studies and environment education
(3) Draw insights from science and environment education

(4) Draw insights from science, social studies and environment education



TTATT ALAAR § UHFa/A g utones, Mefoaa 8 7 e Aiee awar g 2
(1) FEsT va ArierE e 7 g S
(2) ATHTST FALTAT TA TAELIT 90T | T ST
(3) A= U g AT FOraAT 7 T ST
(4) =TT, AT eI UF TATALOT FveAT 7 T SIS
[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_102_Q85]
1 [Option ID = 337]
2 [Option ID = 338]

3 [Option ID = 339]
4 [Option ID = 340]

A wN =

11) Rini asked his teacher, “Why are the stems of plants round and not square shaped ?" What
should the teacher do ?

A. Teacher should tell students that they will learn about this in
higher classes.

B. Teacher should explain students that the reason of round stems
is the gravity.

C. Teacher should ask students to think about the reason for the
round shape of stem.

D. Teacher should take students for a garden visit and ask to
observe the shape of various stems.

(1)A and B
(2)BandC
(3)C and D
(4)A and D



Tt o sreaTa & T, “Ove F A9 AT A0 g0 g, JTIC FA1 Al ? FEATTE H
FT F7AT AT(2W ?
A. greamas 7 AR & Fgar Fiey @ 7 2w are § 3= Ferei |
HIET |
B. #EATTH FI A== 1 A9 AT & T a9 &7 F1e0r
TEeATHU g |
C. #eaTa= HI AT & T & T AHTT G % FIL0T TIAT & A0
H FgdT AT |
D. S&aTo T A= rA1 H1 A0 H THA of ST F1a 0 T47 AT q91
= ATHRTT 3@ F o0 Fgar =g |

(1)ATB
(2)B&#TC
(3)C D
(4) AFTD

[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_102_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) Which of the following methods can be effective in transaction of EVS 7
A. Chalk and Talk method
B. Lecture method
C. Role play
D. Story telling

1)Aand B
2)BandC
3)CandD

(
(
(
(4)A, B, Cand D



Feaforiea § F F-A71 AT wEe SeqaT F aeqTaT § W9 2 7FAr 2 ?
A. =T T4 i fAafg

B. =ameEary f&ter

C. qiF=t Faga

D. FgTHt AT

(1)A &7 B
(2)B&TC
(3)C &= D
(4)A, B, C &= D

[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_102_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

13) An EVS teacher asked students to write a poem describing their mother. Pammi read her
poem, “My mother is sweet like sugar and honey". Some students don't know the meaning of

sugar and honey.

What will you do if you are Pammi's teacher ?
(1
(2
3
4

Bring sugar and honey and make the students eat
Tell students meaning of sugar and honey in local language

Bring sugar and honey and show them to students

——
T s et e

Explain students how sugar and honey are made

T TATF0T AT AEATTH (FATTAGT FT IRt HEAT T T ool ATAT FHlAqT
e 1 Fgal g | TFHT T Hiaar 7zl g, W qET AB g, 5 A S |
T =t (et =i 1 ot 981 9 2 |
TIL AT TEHT 5 ALTTTH 2, AT AT AT FHeal ?
(1) FE=rt i frdt e e e
(2) =Tt = fOT 22 7 o T 9T F a9
(3) F=rTta=T it [T 22 @y "Ema
(4) =t & [t 3 9 a9 g aEr
[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_102_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]

3. 3 [Option ID = 351]
4. 4 [Option ID = 352]



14) Characteristic of a good EVS curriculum at primary level is to

(1) engage learners in inventing new products
(2) focus on acquiring knowledge
(3) develop socio-emotional skills learners

(4) help learners to earn their livelihocod

TTATHE FAT 9T UF d=9 THE70 FEATT & TS =341 i (49091 g

(1) FE=rf 9= =1 77 IeaTRl F ATASRTT § AT

(2) AT AT FEA UL FHfexd gAT

(3) A=t § arr - araETeT® Rl & Awea FweAr
(4) TA=TT &7 ST TS H§ Jgrar 7T

[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_102_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

15) In EVS group discussion should be conducted, this creates meaningful knowledge. Which of
the following statement best describes this fact ?

(1) Learning is faciliated due to social contact.

)
(2) Thoughts and experiences are shared with others.
3) Every child is free to express his/her view,

)

§4 Every response is accepted without criticism.

T FAT H AHg-F=1 FLET IR0, TAF AT T F1 =H00r gar 2
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[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_102_Q90]

1 [Option ID = 357]

2 [Option ID = 358]

3 [Option ID = 359]
4 [Option ID = 360]

A w N =

Topic:- ENG_Q91-99_L1_P1_CTET



1) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Mankind’s relationship with nature has always been interdependent because both nurture
each other. Despite our urge to dominate our environment through barbaric acts of destroying
ecological balance, nature has always honoured this bond with man. Exhaling oxygen,
providing food, fodder, shelter and hope to mankind, albeit in a diminished way. We have
ruined the environment at a rapid pace in the past few decades. It took a pandemic and the
resultant health crisis to remind us about our unpardonable acts. Many of us have for the first
time started thinking about the quality of air, water, the dying rivers and ponds, vanishing
coastal ecosystems, and in the process discovered new birds that apparently had disappeared
long ago.

2. The mystery is not about these birds suddenly reappearing into our lives, but whether they
had gone in hiding fearing our invasion into their territory? Is the reappearance of these
species an announcement of nature reclaiming itself when most of mankind is locked inside
their homes? The answer is an absolute 'Yes'.

3. We have killed nature, uprooted forests, and squeezed the animal habitat in order to grow as
an advanced economy. Our inner being stops getting nourishment when trees in our
surroundings are chopped. It happens because man and nature are deeply connected. Life is
one whole, which includes people, hills, rivers, trees, birds, and all animal life. Life, therefore, is
not one-dimensional. The deterioration of nature was, in fact, a reflection of our own descent
into misery.

4. In ancient scriptures, trees were always considered a part of the family, but rampant
ecological destruction has threatened the very fabric of our lives.

5. The energy in our surroundings exists today not because of high-rise buildings but because
of trees, plants and animals. It is said that when someone touches a flower or hugs a tree,
suddenly there is a flow of warmth, life and energy of consciousness. This communion with
nature directly communicates with the very soul. When nature is destroyed, it is bound to affect
our inner ecology, and without proper balance between inner and outer ecology, our spiritual
odyssey is not possible;

6. Nurturing the environment simply means nurturing our own soul.

Find the incorrect statement.

(1) Man has an urge to dominate nature.

(2) Man is destroying the ecological balance.

(3) Nature has reclaimed itself during lockdown.

(4) Our inner being gets nourished when trees are chopped.

[Question ID = 91][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q91]

A w N =

1 [Option ID = 361]
2 [Option ID = 362]
3 [Option ID = 363]
4 [Option ID = 364]



2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Mankind’s relationship with nature has always been interdependent because both nurture
each other. Despite our urge to dominate our environment through barbaric acts of destroying
ecological balance, nature has always honoured this bond with man. Exhaling oxygen,
providing food, fodder, shelter and hope to mankind, albeit in a diminished way. We have
ruined the environment at a rapid pace in the past few decades. It took a pandemic and the
resultant health crisis to remind us about our unpardonable acts. Many of us have for the first
time started thinking about the quality of air, water, the dying rivers and ponds, vanishing
coastal ecosystems, and in the process discovered new birds that apparently had disappeared
long ago.

2. The mystery is not about these birds suddenly reappearing into our lives, but whether they
had gone in hiding fearing our invasion into their territory? Is the reappearance of these
species an announcement of nature reclaiming itself when most of mankind is locked inside
their homes? The answer is an absolute 'Yes'.

3. We have killed nature, uprooted forests, and squeezed the animal habitat in order to grow as
an advanced economy. Our inner being stops getting nourishment when trees in our
surroundings are chopped. It happens because man and nature are deeply connected. Life is
one whole, which includes people, hills, rivers, trees, birds, and all animal life. Life, therefore, is
not one-dimensional. The deterioration of nature was, in fact, a reflection of our own descent
into misery.

4. In ancient scriptures, trees were always considered a part of the family, but rampant
ecological destruction has threatened the very fabric of our lives.

5. The energy in our surroundings exists today not because of high-rise buildings but because
of trees, plants and animals. It is said that when someone touches a flower or hugs a tree,
suddenly there is a flow of warmth, life and energy of consciousness. This communion with
nature directly communicates with the very soul. When nature is destroyed, it is bound to affect
our inner ecology, and without proper balance between inner and outer ecology, our spiritual
odyssey is not possible;

6. Nurturing the environment simply means nurturing our own soul.

Which one of the following phrases does nof match the theme of the passage?

(1) Balance of inner and outer ecology is essential.
(2) Nature and human beings are interdependent.

(3) Exploitation of nature is a must for growth.
(

4) Rampant ecological destruction has threatened our lives.

[Question ID = 92][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q92]

A wnN =

1 [Option ID = 365]
2 [Option ID = 366]
3 [Option ID = 367]
4 [Option ID = 368]



3) Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.
1. Mankind’s relationship with nature has always been interdependent because both nurture
each other. Despite our urge to dominate our environment through barbaric acts of destroying
ecological balance, nature has always honoured this bond with man. Exhaling oxygen,
providing food, fodder, shelter and hope to mankind, albeit in a diminished way. We have
ruined the environment at a rapid pace in the past few decades. It took a pandemic and the
resultant health crisis to remind us about our unpardonable acts. Many of us have for the first
time started thinking about the quality of air, water, the dying rivers and ponds, vanishing
coastal ecosystems, and in the process discovered new birds that apparently had disappeared
long ago.
2. The mystery is not about these birds suddenly reappearing into our lives, but whether they
had gone in hiding fearing our invasion into their territory? Is the reappearance of these
species an announcement of nature reclaiming itself when most of mankind is locked inside
their homes? The answer is an absolute 'Yes'.
3. We have killed nature, uprooted forests, and squeezed the animal habitat in order to grow as
an advanced economy. Our inner being stops getting nourishment when trees in our
surroundings are chopped. It happens because man and nature are deeply connected. Life is
one whole, which includes people, hills, rivers, trees, birds, and all animal life. Life, therefore, is
not one-dimensional. The deterioration of nature was, in fact, a reflection of our own descent
into misery.
4. In ancient scriptures, trees were always considered a part of the family, but rampant
ecological destruction has threatened the very fabric of our lives.
5. The energy in our surroundings exists today not because of high-rise buildings but because
of trees, plants and animals. It is said that when someone touches a flower or hugs a tree,
suddenly there is a flow of warmth, life and energy of consciousness. This communion with
nature directly communicates with the very soul. When nature is destroyed, it is bound to affect
our inner ecology, and without proper balance between inner and outer ecology, our spiritual
odyssey is not possible;
6. Nurturing the environment simply means nurturing our own soul.

Read the following statements:

Assertion (A) :

We have killed nature.

Reason (R) :

The deterioration of nature is a reflection of our own descent into misery.

1) Ais correct and R is the correct reason of A.

(

(2) Both A and R are not correct.

(3) A is correct but R is not the correct reason for A.
(

4) A is wrong and R is correct.

[Question ID = 93][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q93]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]



4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Mankind’s relationship with nature has always been interdependent because both nurture
each other. Despite our urge to dominate our environment through barbaric acts of destroying
ecological balance, nature has always honoured this bond with man. Exhaling oxygen,
providing food, fodder, shelter and hope to mankind, albeit in a diminished way. We have
ruined the environment at a rapid pace in the past few decades. It took a pandemic and the
resultant health crisis to remind us about our unpardonable acts. Many of us have for the first
time started thinking about the quality of air, water, the dying rivers and ponds, vanishing
coastal ecosystems, and in the process discovered new birds that apparently had disappeared
long ago.

2. The mystery is not about these birds suddenly reappearing into our lives, but whether they
had gone in hiding fearing our invasion into their territory? Is the reappearance of these
species an announcement of nature reclaiming itself when most of mankind is locked inside
their homes? The answer is an absolute 'Yes'.

3. We have killed nature, uprooted forests, and squeezed the animal habitat in order to grow as
an advanced economy. Our inner being stops getting nourishment when trees in our
surroundings are chopped. It happens because man and nature are deeply connected. Life is
one whole, which includes people, hills, rivers, trees, birds, and all animal life. Life, therefore, is
not one-dimensional. The deterioration of nature was, in fact, a reflection of our own descent
into misery.

4. In ancient scriptures, trees were always considered a part of the family, but rampant
ecological destruction has threatened the very fabric of our lives.

5. The energy in our surroundings exists today not because of high-rise buildings but because
of trees, plants and animals. It is said that when someone touches a flower or hugs a tree,
suddenly there is a flow of warmth, life and energy of consciousness. This communion with
nature directly communicates with the very soul. When nature is destroyed, it is bound to affect
our inner ecology, and without proper balance between inner and outer ecology, our spiritual
odyssey is not possible;

6. Nurturing the environment simply means nurturing our own soul.

Identify the correct combination.
CAUSE EFFECT

1. Domination of nature by man 5 Heal the spiritual crisis

2. Rampant ecological destruction 6. Growth of every living being

3. Pandemic and man locked inside 7. Fabric of life strengthened

4. Over-exploitation of natural resources 8. Birds reappeared, nature reclaimed
(1)4and5

(2)1and 6

(3)3and 8

(4)2and 5

[Question ID = 94][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q94]
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5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Mankind'’s relationship with nature has always been interdependent because both nurture
each other. Despite our urge to dominate our environment through barbaric acts of destroying
ecological balance, nature has always honoured this bond with man. Exhaling oxygen,
providing food, fodder, shelter and hope to mankind, albeit in a diminished way. We have
ruined the environment at a rapid pace in the past few decades. It took a pandemic and the
resultant health crisis to remind us about our unpardonable acts. Many of us have for the first
time started thinking about the quality of air, water, the dying rivers and ponds, vanishing
coastal ecosystems, and in the process discovered new birds that apparently had disappeared
long ago.

2. The mystery is not about these birds suddenly reappearing into our lives, but whether they
had gone in hiding fearing our invasion into their territory? Is the reappearance of these
species an announcement of nature reclaiming itself when most of mankind is locked inside
their homes? The answer is an absolute ‘Yes'.

3. We have killed nature, uprooted forests, and squeezed the animal habitat in order to grow as
an advanced economy. Our inner being stops getting nourishment when trees in our
surrcundings are chopped. It happens because man and nature are deeply connected. Life is
one whole, which includes people, hills, rivers, trees, birds, and all animal life. Life, therefore, is
not one-dimensional. The deterioration of nature was, in fact, a reflection of our own descent
into misery.

4. In ancient scriptures, trees were always considered a part of the family, but rampant
ecological destruction has threatened the very fabric of our lives.

5. The energy in our surroundings exists today not because of high-rise buildings but because
of trees, plants and animals. It is said that when someone touches a flower or hugs a tree,
suddenly there is a flow of warmth, life and energy of consciousness. This communion with
nature directly communicates with the very soul. When nature is destroyed, it is bound to affect
our inner ecolegy, and without proper balance between inner and outer ecology, our spiritual
odyssey is not possible.

6. Nurturing the environment simply means nurturing our own soul.

The interaction with plants results in

(1) immediate understanding of self
(2) ecological destruction
(3) warmth, life, and energy

(4) descent into misery

[Question ID = 95][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q95]

1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3.

4. 4 [Option ID = 380]

3 [Option ID = 379]



6) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Mankind’s relationship with nature has always been interdependent because both nurture
each other. Despite our urge to dominate our environment through barbaric acts of destroying
ecological balance, nature has always honoured this bond with man. Exhaling oxygen,
providing food, fodder, shelter and hope to mankind, albeit in a diminished way. We have
ruined the environment at a rapid pace in the past few decades. It took a pandemic and the
resultant health crisis to remind us about our unpardonable acts. Many of us have for the first
time started thinking about the quality of air, water, the dying rivers and ponds, vanishing
coastal ecosystems, and in the process discovered new birds that apparently had disappeared
long ago.

2. The mystery is not about these birds suddenly reappearing into our lives, but whether they
had gone in hiding fearing our invasion into their territory? Is the reappearance of these
species an announcement of nature reclaiming itself when most of mankind is locked inside
their homes? The answer is an absolute 'Yes'.

3. We have killed nature, uprooted forests, and squeezed the animal habitat in order to grow as
an advanced economy. Our inner being stops getting nourishment when trees in our
surroundings are chopped. It happens because man and nature are deeply connected. Life is
one whole, which includes people, hills, rivers, trees, birds, and all animal life. Life, therefore, is
not one-dimensional. The deterioration of nature was, in fact, a reflection of our own descent
into misery.

4. In ancient scriptures, trees were always considered a part of the family, but rampant
ecological destruction has threatened the very fabric of our lives.

5. The energy in our surroundings exists today not because of high-rise buildings but because
of trees, plants and animals. It is said that when someone touches a flower or hugs a tree,
suddenly there is a flow of warmth, life and energy of consciousness. This communion with
nature directly communicates with the very soul. When nature is destroyed, it is bound to affect
our inner ecology, and without proper balance between inner and outer ecology, our spiritual
odyssey is not possible;

6. Nurturing the environment simply means nurturing our own soul.

Which part of speech does the underlined word belong to in the following sentence?
We have ruined the environment at a rapid pace in the past few decades.

(1) Adjective

(2) Adverb

(3) Noun

(4) Verb

[Question ID = 96][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q96]
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7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Mankind’s relationship with nature has always been interdependent because both nurture
each other. Despite our urge to dominate our environment through barbaric acts of destroying
ecological balance, nature has always honoured this bond with man. Exhaling oxygen,
providing food, fodder, shelter and hope to mankind, albeit in a diminished way. We have
ruined the environment at a rapid pace in the past few decades. It took a pandemic and the
resultant health crisis to remind us about our unpardonable acts. Many of us have for the first
time started thinking about the quality of air, water, the dying rivers and ponds, vanishing
coastal ecosystems, and in the process discovered new birds that apparently had disappeared
long ago.

2. The mystery is not about these birds suddenly reappearing into our lives, but whether they
had gone in hiding fearing our invasion into their territory? Is the reappearance of these
species an announcement of nature reclaiming itself when most of mankind is locked inside
their homes? The answer is an absolute 'Yes'.

3. We have killed nature, uprooted forests, and squeezed the animal habitat in order to grow as
an advanced economy. Our inner being stops getting nourishment when trees in our
surroundings are chopped. It happens because man and nature are deeply connected. Life is
one whole, which includes people, hills, rivers, trees, birds, and all animal life. Life, therefore, is
not one-dimensional. The deterioration of nature was, in fact, a reflection of our own descent
into misery.

4. In ancient scriptures, trees were always considered a part of the family, but rampant
ecological destruction has threatened the very fabric of our lives.

5. The energy in our surroundings exists today not because of high-rise buildings but because
of trees, plants and animals. It is said that when someone touches a flower or hugs a tree,
suddenly there is a flow of warmth, life and energy of consciousness. This communion with
nature directly communicates with the very soul. When nature is destroyed, it is bound to affect
our inner ecology, and without proper balance between inner and outer ecology, our spiritual
odyssey is not possible;

6. Nurturing the environment simply means nurturing our own soul.

In para 1 which unpardonable act is being referred to?

(1) Spread of pandemic

(2) Ruining the environment

(3) Nature helping man in only a diminished way
(

4) Thinking about quality of air and water

[Question ID = 97][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q97]
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8) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Mankind’s relationship with nature has always been interdependent because both nurture
each other. Despite our urge to dominate our environment through barbaric acts of destroying
ecological balance, nature has always honoured this bond with man. Exhaling oxygen,
providing food, fodder, shelter and hope to mankind, albeit in a diminished way. We have
ruined the environment at a rapid pace in the past few decades. It took a pandemic and the
resultant health crisis to remind us about our unpardonable acts. Many of us have for the first
time started thinking about the quality of air, water, the dying rivers and ponds, vanishing
coastal ecosystems, and in the process discovered new birds that apparently had disappeared
long ago.

2. The mystery is not about these birds suddenly reappearing into our lives, but whether they
had gone in hiding fearing our invasion into their territory? Is the reappearance of these
species an announcement of nature reclaiming itself when most of mankind is locked inside
their homes? The answer is an absolute 'Yes'.

3. We have killed nature, uprooted forests, and squeezed the animal habitat in order to grow as
an advanced economy. Our inner being stops getting nourishment when trees in our
surroundings are chopped. It happens because man and nature are deeply connected. Life is
one whole, which includes people, hills, rivers, trees, birds, and all animal life. Life, therefore, is
not one-dimensional. The deterioration of nature was, in fact, a reflection of our own descent
into misery.

4. In ancient scriptures, trees were always considered a part of the family, but rampant
ecological destruction has threatened the very fabric of our lives.

5. The energy in our surroundings exists today not because of high-rise buildings but because
of trees, plants and animals. It is said that when someone touches a flower or hugs a tree,
suddenly there is a flow of warmth, life and energy of consciousness. This communion with
nature directly communicates with the very soul. When nature is destroyed, it is bound to affect
our inner ecology, and without proper balance between inner and outer ecology, our spiritual
odyssey is not possible;

6. Nurturing the environment simply means nurturing our own soul.

‘..our spiritual odyssey is not possible’. Find the meaning of the underlined word. (Para 3)

(1) immaturity

(2) a Greek poem
(3) domination
(

4) journey

[Question ID = 98][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q98]
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9) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. Mankind’s relationship with nature has always been interdependent because both nurture
each other. Despite our urge to dominate our environment through barbaric acts of destroying
ecological balance, nature has always honoured this bond with man. Exhaling oxygen,
providing food, fodder, shelter and hope to mankind, albeit in a diminished way. We have
ruined the environment at a rapid pace in the past few decades. It took a pandemic and the
resultant health crisis to remind us about our unpardonable acts. Many of us have for the first
time started thinking about the quality of air, water, the dying rivers and ponds, vanishing
coastal ecosystems, and in the process discovered new birds that apparently had disappeared
long ago.

2. The mystery is not about these birds suddenly reappearing into our lives, but whether they
had gone in hiding fearing our invasion into their territory? Is the reappearance of these
species an announcement of nature reclaiming itself when most of mankind is locked inside
their homes? The answer is an absolute 'Yes'.

3. We have killed nature, uprooted forests, and squeezed the animal habitat in order to grow as
an advanced economy. Our inner being stops getting nourishment when trees in our
surroundings are chopped. It happens because man and nature are deeply connected. Life is
one whole, which includes people, hills, rivers, trees, birds, and all animal life. Life, therefore, is
not one-dimensional. The deterioration of nature was, in fact, a reflection of our own descent
into misery.

4. In ancient scriptures, trees were always considered a part of the family, but rampant
ecological destruction has threatened the very fabric of our lives.

5. The energy in our surroundings exists today not because of high-rise buildings but because
of trees, plants and animals. It is said that when someone touches a flower or hugs a tree,
suddenly there is a flow of warmth, life and energy of consciousness. This communion with
nature directly communicates with the very soul. When nature is destroyed, it is bound to affect
our inner ecology, and without proper balance between inner and outer ecology, our spiritual
odyssey is not possible;

6. Nurturing the environment simply means nurturing our own soul.

‘Invasion’ in para 2 is used as afan

(1) noun
(2) verb
(3) adverb
(4) adjective

[Question ID = 99][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q99]
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1) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
Season of mists and mellow fruitfulness,
Close bosom-friend of the maturing sun;
Conspiring with him how to load and bless
With fruit the vines that round the thatch-eves run; ...... 4
To bend with apples the moss’d cottage-trees,
And fill all fruit with ripeness to the core;
To swell the gourd, and plump the hazel shells
With a sweet kernel; to set budding more, ...... 2]
And still more, later flowers for the bees,
Until they think warm days will never cease,
For summer has o'er-brimm’d their clammy cells.
Who hath not seen thee oft amid thy store? ......12
Sometimes whoever seeks abroad may find
Thee sitting careless on a granary floor,
Thy hair soft-lifted by the winnowing wind; ......15

‘The conspiracy’ has resulted into

(1) Making everything dry and barren
(2) Overloading fruits with ripeness
(3) Making gourd swell with beautiful fragrance

(4) Beautification of earth hampered with dryness and dullness

[Question ID = 100][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q100]
1 [Option ID = 397]
2 [Option ID = 398]
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2) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
Season of mists and mellow fruitfulness,
Close bosom-friend of the maturing sun;
Conspiring with him how to load and bless
With fruit the vines that round the thatch-eves run; ...... 4
To bend with apples the moss’d cottage-trees,
And fill all fruit with ripeness to the core;
To swell the gourd, and plump the hazel shells
With a sweet kernel; to set budding more, ...... 2]
And still more, later flowers for the bees,
Until they think warm days will never cease,
For summer has o'er-brimm’d their clammy cells.
Who hath not seen thee oft amid thy store? ......12
Sometimes whoever seeks abroad may find
Thee sitting careless on a granary floor,
Thy hair soft-lifted by the winnowing wind; ......15

Who are ‘they’ in line 10 of the poem?

(1) Villagers
(2) Bees
(3) Flowers

(4) Hazel shells

[Question ID = 101][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q101]
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3) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
Season of mists and mellow fruitfulness,
Close bosom-friend of the maturing sun;
Conspiring with him how to load and bless
With fruit the vines that round the thatch-eves run; ...... 4
To bend with apples the moss’d cottage-trees,
And fill all fruit with ripeness to the core;
To swell the gourd, and plump the hazel shells
With a sweet kernel; to set budding more, ...... 2]
And still more, later flowers for the bees,
Until they think warm days will never cease,
For summer has o'er-brimm’d their clammy cells.
Who hath not seen thee oft amid thy store? ......12
Sometimes whoever seeks abroad may find
Thee sitting careless on a granary floor,
Thy hair soft-lifted by the winnowing wind; ......15

Identify the figure of speech in line 3.

(1) Alliteration

(2) Personification

(3) Metaphor

(4) Hyperbole
[Question ID = 102][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q102]
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4) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
Season of mists and mellow fruitfulness,
Close bosom-friend of the maturing sun;
Conspiring with him how to load and bless
With fruit the vines that round the thatch-eves run; ...... 4
To bend with apples the moss’d cottage-trees,
And fill all fruit with ripeness to the core;
To swell the gourd, and plump the hazel shells
With a sweet kernel; to set budding more, ...... 2]
And still more, later flowers for the bees,
Until they think warm days will never cease,
For summer has o'er-brimm’d their clammy cells.
Who hath not seen thee oft amid thy store? ......12
Sometimes whoever seeks abroad may find
Thee sitting careless on a granary floor,
Thy hair soft-lifted by the winnowing wind; ......15

Identify the poetic device in ‘with fruit ......run’

(1) Alliteration

(2) Simile

(3) Imagery

(4) Oxymoron
[Question ID = 103][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q103]
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5) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
Season of mists and mellow fruitfulness,
Close bosom-friend of the maturing sun;
Conspiring with him how to load and bless
With fruit the vines that round the thatch-eves run; ...... 4
To bend with apples the moss’d cottage-trees,
And fill all fruit with ripeness to the core;
To swell the gourd, and plump the hazel shells
With a sweet kernel; to set budding more, ...... 2]
And still more, later flowers for the bees,
Until they think warm days will never cease,
For summer has o'er-brimm’d their clammy cells.
Who hath not seen thee oft amid thy store? ......12
Sometimes whoever seeks abroad may find
Thee sitting careless on a granary floor,
Thy hair soft-lifted by the winnowing wind; ......15

What are the bees anticipating?

(1) Warm days will end soon.
(2) Warm days will end much later.
(3) Warm days will be unending.

(4) Warm days will be followed by cold days.

[Question ID = 104][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q104]
1 [Option ID = 413]
. 2 [Option ID = 414]
3 [Option ID = 415]
. 4 [Option ID = 416]

A w N =



6) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
Season of mists and mellow fruitfulness,
Close bosom-friend of the maturing sun;
Conspiring with him how to load and bless
With fruit the vines that round the thatch-eves run; ...... 4
To bend with apples the moss’d cottage-trees,
And fill all fruit with ripeness to the core;
To swell the gourd, and plump the hazel shells
With a sweet kernel; to set budding more, ...... 2]
And still more, later flowers for the bees,
Until they think warm days will never cease,
For summer has o'er-brimm’d their clammy cells.
Who hath not seen thee oft amid thy store? ......12
Sometimes whoever seeks abroad may find
Thee sitting careless on a granary floor,
Thy hair soft-lifted by the winnowing wind; ......15

What is the rhyme scheme in the first four lines of the poem?

(1) abab
(2) abba
(3) abbb

(4) aabb

[Question ID = 105][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q105]
1 [Option ID = 417]
2 [Option ID = 418]
3 [Option ID = 419]
. 4 [Option ID = 420]

A w N =

Topic:- ENG_Q106-120_L1_P1_CTET

1) Which one of the following is nofa foundational reading skill?
(1) Decoding

(2) Word recognition

(3) Morphology

(4) Reading vocabulary

[Question ID = 106][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q106]
1 [Option ID = 421]
2 [Option ID = 422]
3 [Option ID = 423]
4 [Option ID = 424]

A wWw N -



2) A teacher is making young children acquire their language in their initial years in the form of
commands or encouragement and asks them to act accordingly. She is following

(1) Do it Yourself strategy

(2) Total Physical Response approach
(3) Learning by Doing approach

(4) Storytelling Method

[Question ID = 107][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q107]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

3) Language is a social tool of

1) interpretation

(

(2) interaction
(3) intimation
(

4) interference

[Question ID = 108][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q108]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

4) While reading a text the ability to locate details, places, names, dates/times efc. is

1) global comprehension

(
(2) local comprehension
(3) drawing inference

(

4) interpretation of the text

[Question ID = 109][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q109]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

5) A teacher asks learners of Class 5 to read a long text to enjoy reading and gain a better
understanding of concept. She is practising

(1) Extensive reading
(2) Intensive reading
(3) Jigsaw reading
(4) Partner reading

[Question ID = 110][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q110]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]



6) A teacher uses real objects to teach young learners new words because

1) it helps in teaching the correct spelling of words.

(

(2) we can teach vocabulary only through objects.

(3) young learners are not capable of abstract thinking.
(

4)it helps learners associate words with objects they see in real life.

[Question ID = 111][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q111]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

7) When the student learns in the new language but does not speak it for some time, this period is
called the period.

(1) speech emergent
(2) silent

(3) early production
(4) emergent

[Question ID = 112][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q112]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

8) An effective language teacher will

1) make children learn all the answers to the questions given in the textbooks.

(

(2) use the text as well as other resources for teaching.

(3) prepare question papers using only the questions given in the textbook.
(

4) rely entirely on the prescribed book.

[Question ID = 113][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q113]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

9) A teacher keeps the students’ work of language in a folder and |ater uses it for assessing the
learners’ achievement of language. What is this strategy for assessment known as?

(1) Diagnostic test

(2) Anecdotal record

(3) Summative assessment
(4) Portfolio assessment

[Question ID = 114][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q114]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]



10) The method of teaching that does nof allow the interference of the learner’s mother tongue in
learning a target language isthe .
(1) Direct method
(2) Grammar Translation method
(3) Bilingual method
(4) Situational method

[Question ID = 115][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q115]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

11) Which one of the following is notbased on a Top-down approach?

(1) The learner utilises his previous knowledge to figure out the meaning of language.
(2) The learner predicts what is going to happen next when they read or listen to it.

(3) The learner understands language by concentrating on individual words and phrases.
(4) The learners start with poems and stories and then come to the alphabet.

[Question ID = 116][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q116]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

12) Remedial teaching

(1) fills the gap that creeps into a pupil’s learning.

(2) rectifies the concepts which have been misunderstood.
(3) helps in retaining homogeneity in the class.

(

4)is to introduce new language ifems.

[Question ID = 117][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q117]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

13) The learning disability that affects the ability to read, interpret and understand letters, words
and symbols is
(1) Dyslexia
(2) Dyscalculia
(3) Dysphasia
(4) Dyspraxia
[Question ID = 118][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q118]
. 1 [Option ID = 469]
. 2 [Option ID = 470]

1
2
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]



14) Which one of the following falls in print-rich environment in language classroom?

1) Charts, posters, classroom agreements displayed in the class.

3) Books kept in the almirahs of the class library.

(2) Signboards, placards, labels, wrappers, etc. in the environment.
(4) Electronic media such as TV, computers, smartphones, etc.

[Question ID = 119][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q119]

1. 1 [Option ID = 473]

2. 2 [Option ID = 474]

3. 3 [Option ID = 475]

4. 4 [Option ID = 476]

15) The first generation learners are those who are

1) the first from their family to come to school.

(
(2) coming to school for the first time to take admission.

(3) attending school preparedness programme in school.

(4) learning the language for the first time in school.

[Question ID = 120][Question Description = CTET_P1_PART_4_L1_SET_102_ENGLISH_Q120]
1 [Option ID = 477]

2 [Option ID = 478]

3 [Option ID = 479]

4 [Option ID = 480]

A W N -

Topic:- HIN_Q121-128_L2_P1_CTET

") fRder ; AEfafaT T 71 TEET [ 0 4T F ag/aad guge g9] a5

faFeT #t AT |

Tg T ATAT AT 297 g oA T T G § g Ia arag gt At 3w F g 99
T qTd F ATF q97T A1 A i O 99 g ¢ 99 F ge-aE I3 A
FICETT AT a1t & =9 § Iioer o @97 ¢ | && Gt 72 afamser
AT ST £, T 77 AT T TF T9 qT617 27 3547 & | AT T97 qrHTees
T I AT AT g EI g, SaT g ag AT M F A TFT T g |
S H WA A LA S0 A4 F qA9r BT g a9 | Sar F 99 e w1

HATT EI 3BT ¢ | AT AT & A § q0-A0 FeqT 92 72 ¢ |
TR 6 AT T G0 =7 § B =7 § 9g=1H7 Sar g 2

(1) =T T F9T
(2) T FT I
(3) HAreATioAE F9r
(4) FEwTaefier 2o

[Question ID = 691][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q121]
1. 1 [Option ID = 2761]
2. 2 [Option ID = 2762]
3. 3 [Option ID = 2763]
4. 4 [Option ID = 2764]



2 fRder : [REfeaa TEsT #7 9EFT (6 T T4 ¥ ag/Aa8 I9gw I9T AT
fagoT #1 A7 |
Tg T ATAT T 297 g oA i = WA § E Saq arg= g e 3w H g 5
F ared § anfee g7 awrtes Fww £ 7f7 39 g2 2 99 F 9298 3= ud
FICETT ATATIOE at4at & =9 § Tfagr o @30 § | = e 72 i o
AT ST £, T 77 AT T TF T9 qT617 27 3547 & | AT T97 qrHTees
P H A AT A A 12T g, SaT 2 ag A I A g A AT IS R 2
S H WA A LA S0 A4 F qA9r BT g a9 | Sar F 99 e w1
HATL 21 3BT 2 | T 9rea F T3 8§ q0U-A17 A2 92 T2 3 |

HTHTOTR A1y Theg gl AT 2 2

(1) ATETIS a7

(2) TEAWT TH FIEETET HT

(3) TTHTI] ST Feal

(4) AfeaT gfew=t F/aTiis =1 F1

[Question ID = 692][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q122]
1. 1 [Option ID = 2765]
2. 2 [Option ID = 2766]
3. 3 [Option ID = 2767]
4. 4 [Option ID = 2768]

3 fRder : FEfefaT T=re 1 TBFT 78 T T9 ¥ ag/aa9 39T 97 79
e it A7 |
Tg T ATAT 1 297 g o e v WA § § gaw arg= gy B 3w # g ww
AT H AT AT AT (406 6y T 99 gs ¢ a9 § de-a8 8N U4
FILATH AT ar4l 6 =7 F a8 9 o3 g | & Bt 72 afarsar 1
AT TET &, T 77 ATH FT UF ST qTHIT 27 S5aT & | A0 T AT
T I a T AT T I, AT g Ag AT M KA TAT T | g |
W H GET T S0 @ F FA9r AT g a9 F S\ar F 59 H arerna
HATC I IBT1Z | AT A1 F Ao § AU AU A AT S 2 2 |

AT AT & (AT H qU-A0 qea7 §q Tg 8 | AT T q9

(1) 977 % A+ 97 FU-AT TS5 a9 72 2 |
(2) AT F AGF FAFH I A AT g 2 |
(3) WA T Faer AAS FEAFH T2 |
(4) ATET A &= H R RS

[Question ID = 693][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q123]
1. 1 [Option ID = 2769]



2. 2 [Option ID = 2770]
3. 3 [Option ID = 2771]
4. 4 [Option ID = 2772]

Y fder ; fREfefaT T=res #7 UgFT 08 T T491 # ag/a9d 9ug g% a1
Ao #1 FiA7 |
g T9T ATAT 0 =97 g o aref T 9a § 2 Iaq agT g AT 3w g 9
T O H arfErF q97 "o s f 7fF 99 g2 € 99 § g9 5@ ud
FEETT ATETSE 141 % =9 H 908t 99 &9 ¢ | 59 BT 98 9hgreer &1
TATTT TET &, TF 70 ATEH FT T ST qTHIT 27 S5AT & | AT T AT
T I AT AT S g8, SaT g Ag AT M KA TATIZ | e |
ST H WET F TLAT] SO0 A F g9 AT g a9 7 S=ar F 59’ Arera
HATC I IB1E | AT A7 F A § AU AU AAT S 2 2 |
‘ST AT ATATIO 18 F Gea foraer 0T 92 721 2, Ia471 21 98 &+ 3907 T
IR HSATIS @I T | AT T A9qT 2
(1) ST F ATTHF TAT AT [AFTT 5 AT FH7EH I -5 A5 7T

-5

(2) AR F AT ToETH & F0T AT (=T Awtad <o 7 21 i g |
(3) 9T H |TATSE BT g T 21 I8 A 290 F ATH-H=91 977 20T |
(4) TrefT ST For =7 ATH-HEHTT S5 ATTA T TAT FTATOME 319 97 [H97 FH7a7 2 |

[Question ID = 694][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q124]
1. 1 [Option ID = 2773]
2. 2 [Option ID = 2774]
3. 3 [Option ID = 2775]
4. 4 [Option ID = 2776]




5) fAder ; fAeforaT T #T UG GF T TAT F TH/AEE I IAT AT
faoT #r FiAT |
Tg T ATAT 7 297 g oA it = WA § E Saq = g e 3 H g 5
F AT H AT 9T "ot A A 17 39 g8 € 99 7 9292 32N uA
FICETT ATATIOE at4at & =9 § Tagr ar @90 § | 5= ey 72 afarsn o
T 1T £, TF AT ARA FT TF ST AR 27 35T £ | ATHE AT qIAIT
T A AT A A e L, A S A e I A A SAT e W@ 2
W H WIT A TLAI] S0 A F FAr AT g a9 | S\ar F 99§ e w1
AT BT IBT 2 | AT AT & AT & qU-A0 AT S 72 ¢ |

AT TSR E
(1) f&arT

(2) TT=®
©RERUEE R

(4) |=
[Question ID = 695][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q125]
1. 1 [Option ID = 2777]
2. 2 [Option ID = 2778]

3. 3 [Option ID = 2779]
4. 4 [Option ID = 2780]

o) fReer : Aafefa T=mer 1 T2F7 78 T TAT ¥ gg/aaE U 397 79
Fe # g7 |
Tg T9T AT A 297 g oA 1S T G § g a7 aras g AT 3w F g5 99
T O F AAF TIT AT (A A S A g2 ¢ 99 J Te-aE SN uF
FTLETH AT A4l % =9 § G890 9 o ¢ | && By 95 9iars«r &
TATTT TET &, TF 0 ATEH FT T ST qTHIT 27 S5aT & | AT T AT
T I aT AT T g, SaT g Ag AT M H WA TAT T | g |
ST H WA LAY SO0 Ao F gAer AT g a9 7 S=ar F 59 H aArerna
HHTE 1 35T § | S A1ea % fohe § 9790 Aeq7 2 T2 2 |

W AT FT T9 Fiel AT FAT ATHE BT IJAT 2 2
(1) =T e g o

(2) TE-% qTATHATHA & ATH ZH T7

(3) THAAAT UTH & T2

(4) 32 TISTH1T =TT & HIE00

[Question ID = 696][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q126]
1. 1 [Option ID = 2781]



2. 2 [Option ID = 2782]
3. 3 [Option ID = 2783]
4. 4 [Option ID = 2784]

7 fRer ; FEfafeT T=ne 7T TEET gH T T4 ¥ ag/aas gugTh 997 a7
fAFeT Fr FAT |
Tg T9T AT AT 297 g oA A1 T G § g A arag g At 3w F g1 99
T O H arfErF q97 "o s f 7fF 99 g2 € 99 § g9 5@ ud
FEETT ATETSE 141 % =9 H 908t 99 &9 ¢ | 59 BT 98 9hgreer &1
TATTT TET &, TF 70 ATEH FT T ST qTHIT 27 S5AT & | AT T AT
IR F T AT AT Az TEr e, AT g g F T M AT HTAT IS |18
ST H WET F TLAT] SO0 A F g9 AT g a9 7 S=ar F 59’ Arera
FATL ET 351 ¢ | AT AT F = & AU-A0 AT JE 72 ¢ |

g T ATAT FIAZ | TEIHT TF H FA-AT T g 2

(1) w41 FT5H

(2) ATEHTT FTTH
(3) T FTEH
(4) TIETT FE

[Question ID = 697][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q127]
1. 1 [Option ID = 2785]
2. 2 [Option ID = 2786]
3. 3 [Option ID = 2787]
4. 4 [Option ID = 2788]



8 fAder : fAEforaa Terra #1 BT qF T TAT F GE/AaT g IAT AT
faoT #r FiAT |
Tg T ATAT 7 297 g oA it = WA § E Saq = g e 3 H g 5
F AT H AT 9T "ot A A 17 39 g8 € 99 7 9292 32N uA
FICETT AT d141 & =9 F It o @97 ¢ | && Gt 72 g«
T ST 2, T 77 AT T TF TI9 qTH07 27 3547 & | AT T97 qrmerss
T A AT A A e L, A S A e I A A SAT e W@ 2
W H WIT A TLAI] S0 A F FAr AT g a9 | S\ar F 99§ e w1
AT BT IBT 2 | AT AT & AT & qU-A0 AT S 72 ¢ |

AT F AAHE

(1) FTm=RE

(2) =TT

(3) AT

(4) sHTRTT
[Question ID = 698][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q128]
1. 1 [Option ID = 2789]
2. 2 [Option ID = 2790]

3. 3 [Option ID = 2791]
4. 4 [Option ID = 2792]

Topic:- HIN_Q129-135_L2_P1_CTET



") fRder ; AEfofaT T #T UEET (5 T AT F "ag/aas qug gus AT
o 1 A0 |
gfiT TF o g omH Fgar-awr fit gHem 9w g Tg4ar gl R
FTTAT-TTHL, FTAT-GTAT 2 | THT 7 907 FedT g | GrS(e 900 KT TH Tgar g, ¢
FLAT 8 AT FIH-HTS F AT TAGT 2 | AT G 907 TF 1 =T F180 | qTHT
g, ST, =AT AML A, gL q7g Fl I, 90, qTST Fied, TH-T20, HFaA, =, T
ATt T 79 AT A Aew 9Ary g | §=r, A, 5Er At | a4 Heear
FHT-FAT AT TR | Ty [T F FeqTH F A% 3F 9% UL GG T | G A
g SToRl ATHT A0 7 3gd 3% § | T TR (a1 Jra 0 | gr-97 & 42
FTRT T T A5T AT @9 F Tg UF HE Sof [0Aq7 | 9199 Fod F7 =409 903
e T g e s g 2

(1) FTTAT-TTAHT
(2) FTAT-TTHT
(3) T=H

(4) 7efre

[Question ID = 699][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q129]
1. 1 [Option ID = 2793]
2. 2 [Option ID = 2794]
3. 3 [Option ID = 2795]
4. 4 [Option ID = 2796]



2 fAder ; fafofad T #1 9B GF T TAT F TE/AaE FUE I AT
faFeT 1 FA0 |
gfiT TF o g omH Fgar-awr fit gHem 9w g Tg4ar gl R
FTTAT-TTHL, FTAT-GTAT 2 | THT 7 907 FedT g | GrS(e 900 KT TH Tgar g, ¢
FLAT 8 AT FIH-HTS F AT TAGT 2 | AT G 907 TF 1 =T F180 | qTHT
g, ST, =AT AML A, gL q7g Fl I, 90, qTST Fied, TH-T20, HFaA, =, T
ATt T 79 AT A Aew 9Ary g | §=r, A, 5Er At | a4 Heear
FHT-FAT AT TR | Ty [T F FeqTH F A% 3F 9% UL GG T | G A
g SToRl ATHT A0 7 3gd 3% § | T TR (a1 Jra 0 | gr-97 & 42
FTRT T T A5T AT @9 F Tg UF HE Sof [0Aq7 | 9199 Fod F7 =409 903
TS % IoA GIT2F T219 7gl e

(1) 3T
(2) et
(3) FE=TEAT

(4) AT T

[Question ID = 700][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q130]
1. 1 [Option ID = 2797]
2. 2 [Option ID = 2798]
3. 3 [Option ID = 2799]
4. 4 [Option ID = 2800]




3) e : FafofaT Ters &1 w2 95 T7 7497 F ag/aad §g 997 I
Ao 1 AT |
gfiT TF o g omH Fgar-awr fit gHem 9w g Tg4ar gl R
FIIAT-TTHT, FTAT-HTAT 2 | ZHT F 9407 =TT g | AT 90907 T T0H 7gar 2, 72
FLAT § AT FTH-FTH & AT AT g | A7 7 7909 T2 51 7 FMgw | JTET
g, ST, =AT AML A, gL q7g Fl I, 90, qTST Fied, TH-T20, HFaA, =, T
ATt T 79 AT A Aew 9Ary g | §=r, A, 5Er At | a4 Heear
FHT-FAT G =120 | Feg =771 6 A& % "% B0 =<6 TC GF 0 | =T
g Soal G A0 7 Jgd 3¢ § | G T2 (Aaae 1 J1g0 | gr7-97 3T 42
GTHT 9T F7T 37 AT T F T8 UF 52 T {9407 | 99 F77 1 509 93

LT & ATETE G2 HI-97 FIT A4 g ?

(1) ATSIA S @ T g 1T ATl |
(2) Tz, =, ATaT At F T+ Hsreat 7w g g |

(3) ATSI T G FATHT FTAT AT |
(4) TTSTH FHEA T T F9=5 g1 ATal |

[Question ID = 701][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q131]
1. 1 [Option ID = 2801]
2. 2 [Option ID = 2802]
3. 3 [Option ID = 2803]
4. 4 [Option ID = 2804]



4 fader : fEfeaT T T 9EFT (5 T7 TAL F ag/aad gugw Ia] A
faFeT 1 FA0 |
gfiT TF o g omH Fgar-awr fit gHem 9w g Tg4ar gl R
FTTAT-TTHL, FTAT-GTAT 2 | THT 7 907 FedT g | GrS(e 900 KT TH Tgar g, ¢
FLAT 8 AT FIH-HTS F AT TAGT 2 | AT G 907 TF 1 =T F180 | qTHT
g, ST, =AT AML A, gL q7g Fl I, 90, qTST Fied, TH-T20, HFaA, =, T
ATt T 79 AT A Aew 9Ary g | §=r, A, 5Er At | a4 Heear
FHT-FAT AT TR | Ty [T F FeqTH F A% 3F 9% UL GG T | G A
g SToRl ATHT A0 7 3gd 3% § | T TR (a1 Jra 0 | gr-97 & 42
FTRT T T A5T AT @9 F Tg UF HE Sof [0Aq7 | 9199 Fod F7 =409 903

g ¥ (7 T2 g

(1) FETAT-ITHT
(2) FTET =TT
(3) A FT

(4) 9TT8F TETd

[Question ID = 702][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q132]
1. 1 [Option ID = 2805]
2. 2 [Option ID = 2806]
3. 3 [Option ID = 2807]
4. 4 [Option ID = 2808]



5) fAder ; feforad T #T UEET G T TAT F TH/AEE I IAT AT
faFeT 1 FA0 |
gfiT TF o g omH Fgar-awr fit gHem 9w g Tg4ar gl R
FTTAT-TTHL, FTAT-GTAT 2 | THT 7 907 FedT g | GrS(e 900 KT TH Tgar g, ¢
FLAT 8 AT FIH-HTS F AT TAGT 2 | AT G 907 TF 1 =T F180 | qTHT
g, ST, =AT AML A, gL q7g Fl I, 90, qTST Fied, TH-T20, HFaA, =, T
ATt T 79 AT A Aew 9Ary g | §=r, A, 5Er At | a4 Heear
FHT-FAT AT TR | Ty [T F FeqTH F A% 3F 9% UL GG T | G A
g SToRl ATHT A0 7 3gd 3% § | T TR (a1 Jra 0 | gr-97 & 42
FTRT T T A5T AT @9 F Tg UF HE Sof [0Aq7 | 9199 Fod F7 =409 903

TS 917 &l TH 7@dT g | TaEitea 958 ¥ Fi9-97 :eh g ?

(1) 4T FT55F
(2) Hele FTTH
(3) FH FT7F
(4) sfErET 1w

[Question ID = 703][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q133]
1. 1 [Option ID = 2809]
2. 2 [Option ID = 2810]
3. 3 [Option ID = 2811]
4. 4 [Option ID = 2812]



o) fAder : fAaforfad T #1 9EHT G T TAT F TH/AEE I IAT AT
faFeT 1 FA0 |
gfiT TF o g omH Fgar-awr fit gHem 9w g Tg4ar gl R
FTTAT-TTHL, FTAT-GTAT 2 | THT 7 907 FedT g | GrS(e 900 KT TH Tgar g, ¢
FLAT 8 AT FIH-HTS F AT TAGT 2 | AT G 907 TF 1 =T F180 | qTHT
g, ST, =AT AML A, gL q7g Fl I, 90, qTST Fied, TH-T20, HFaA, =, T
ATt T 79 AT A Aew 9Ary g | §=r, A, 5Er At | a4 Heear
FHT-FAT AT TR | Ty [T F FeqTH F A% 3F 9% UL GG T | G A
g SToRl ATHT A0 7 3gd 3% § | T TR (a1 Jra 0 | gr-97 & 42
FTRT T T A5T AT @9 F Tg UF HE Sof [0Aq7 | 9199 Fod F7 =409 903
‘ST T I AATHT 952 gl

(1) 3
(2) T

(3) 79
(4) T

[Question ID = 704][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q134]
1. 1 [Option ID = 2813]
2. 2 [Option ID = 2814]
3. 3 [Option ID = 2815]
4. 4 [Option ID = 2816]



" fAder ; Aefofas Terre #1 EET 95 T g4 F ag/aad gy I97 a7
faFeT 1 FA0 |
gfiT TF o g omH Fgar-awr fit gHem 9w g Tg4ar gl R
FTTAT-TTHL, FTAT-GTAT 2 | THT 7 907 FedT g | GrS(e 900 KT TH Tgar g, ¢
FLAT 8 AT FIH-HTS F AT TAGT 2 | AT G 907 TF 1 =T F180 | qTHT
g, ST, =AT AML A, gL q7g Fl I, 90, qTST Fied, TH-T20, HFaA, =, T
ATt T 79 AT A Aew 9Ary g | §=r, A, 5Er At | a4 Heear
FHT-FAT AT TR | Ty [T F FeqTH F A% 3F 9% UL GG T | G A
g SToRl ATHT A0 7 3gd 3% § | T TR (a1 Jra 0 | gr-97 & 42
FTRT T T A5T AT @9 F Tg UF HE Sof [0Aq7 | 9199 Fod F7 =409 903
TR AT T T a0 AT ?
(1) TTHT ST el
(2) F% T =1 =T gar qie

(3) 3¢ &7 =

(4) ATST FAT G
[Question ID = 705][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q135]
1. 1 [Option ID = 2817]
2. 2 [Option ID = 2818]

3. 3 [Option ID = 2819]
4. 4 [Option ID = 2820]

Topic:- HIN_Q136-150_L2_P1_CTET

N T FAT ST A, AT AT ATHFT FT AV FA g, Teg foraArft 7 &t 3=
FTH, FEAT, FIH AT FEAFHT & AT % AT FHT [T AT, T 2
(1) = F giawer
(2) Hra i frat
(3) = F =7
(4) Hrae FT AAHTT
[Question ID = 706][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q136]
1. 1 [Option ID = 2821]
2. 2 [Option ID = 2822]

3. 3 [Option ID = 2823]
4. 4 [Option ID = 2824]



2) 1= forferrT formfaa =i fiaw &t afafey 5 ey & /it o e -
SET ATITAT FT A=A0T FI9 TF AW F94 % q99¢ ITaeg FAA0 2, T2
WA T T E
(1) Zteet foRfsrrer weaie
(2) FTT-ATITIA ATT-fareqor
(3) TTET-GETH AT ATT-TareAm
(4) foreqor =T omTfee= SUTTH

[Question ID = 707][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q137]

1. 1 [Option ID = 2825]

2. 2 [Option ID = 2826]

3. 3 [Option ID = 2827]
4. 4 [Option ID = 2828]

3) FHer 1 ¥ forfernr forarfia = | @ g 1Er g, el 3 399 T, 2led, T34,
AL & T FAT A7 ZHT AL 0 AT AIAATDTT FA % 00 Fgal g | 3 It
_ wEwmET R
(1) Feed HIZT 19T
(2) T JIZT T
(3) Etear Thieraer weaie
(4) e fovear =y riatAtet

[Question ID = 708][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q138]
1. 1 [Option ID = 2829]
2. 2 [Option ID = 2830]
3. 3 [Option ID = 2831]
4. 4 [Option ID = 2832]

) qTEF-av] H THAT A7 IAH F T I Grord, G0 gf Taa-aeg o1 WA=
FTA T Tt #r AT 2

(1) AT 7B
(2) FifET
(3) g™

(4) T3 FAATAT

[Question ID = 709][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q139]
1. 1 [Option ID = 2833]
2. 2 [Option ID = 2834]
3. 3 [Option ID = 2835]
4. 4 [Option ID = 2836]



5 A Yo Tl F AFHAT ST eAtT-IearET F forg AT & gt F 99eag #w
TaTAT FLAT &

(1) (B3 (FITI@F’JI

(2) FerfomaT

(3) Fexufawrar

(4) FewerfaFmm
[Question ID = 710][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q140]
1. 1 [Option ID = 2837]
2. 2 [Option ID = 2838]

3. 3 [Option ID = 2839]
4. 4 [Option ID = 2840]

6 fRefariad # 7 F-A7 ATeiicenl & qraT 2 fgia 9 smenfa g 2

(1) T T 5] a1 2 97 97 F o 18 gieamE amEr 985 2
(2) STaT fAFT AT "R A A A g
(3) |raT ATHTIST AT T A gt g )
(4) T THETLTHAT [AAAT F IeA1= F B § GTOT #ET 2 |
[Question ID = 711][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q141]
1. 1 [Option ID = 2841]
2. 2 [Option ID = 2842]

3. 3 [Option ID = 2843]
4. 4 [Option ID = 2844]

7 FafofeT § F Fe-ar we-arart arar-fr w1 i ag@ite 2
(1) AT AZTAAT
(2) FrFaer T
(3) e 3 o T
(4) AETE T TAA

[Question ID = 712][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q142]
1. 1 [Option ID = 2845]
2. 2 [Option ID = 2846]
3. 3 [Option ID = 2847]
4. 4 [Option ID = 2848]

8) wrar-fareror 71 FgToET SuTTe U e T FT FTAT TEAT ¢ |
(1) forear=ft =1 g7 =T 79 =7
(2) AT ITETFAT T HHIT T FEA
(3) Fareariorat =T HOAT ITSI-TFa ST AT & TET AT
(4) IT FAAFAT F ITANT & AT A7 FHOT F2y F Foreqntagt £ 957 w97

[Question ID = 713][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q143]
1. 1 [Option ID = 2849]
2. 2 [Option ID = 2850]




3. 3 [Option ID = 2851]
4. 4 [Option ID = 2852]

) FfIFIT (A)
TUATTHF o e =t uiaar g e o ager foranfaat & aawn
& A= F7ar g & e sfEa v e 21
FTTT(R) :
TUATITHT TZhel F1 @] FHid | Tgor T 9 1 soe forentay v gt
A HHAT F I F ARES g1 ATl |
Trafeafas Fire O 7 981 392 7 F47 FAfo
(1) (A) @ (R) E11 &7 £ &7 (R), (A) Fradi = g |
(2) (A) ¥ (R) =11 777 £, %6 (R) (A) T T8 = a2 2 |
(3) (A) =7 2, @ (R) aeT 2 |
(4) (A) FFT g, @i (R) T 2 |
[Question ID = 714][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q144]
1. 1 [Option ID = 2853]
2. 2 [Option ID = 2854]

3. 3 [Option ID = 2855]
4. 4 [Option ID = 2856]

10 grfeEFaT (A) :
AT TSrae w12 g 2, A W7 7 HrGaT 3997 21 77 217 2 |
FITT(R)

ol I FT B AT T ed 21aT ¢ 5 g giAAral F90 H HEr

ST |

Hfriad #re § 7 g1 307 F =4 90

(1) (A) T (R) T TT 2 &7 (R), (A) FTH1T AT=ATE |

(2) (A) T (R) AT T g, @157 (R) (A) T Fg81 =TT 781 & |

(3) (A) T g, @i (R) #AFA |

(4) (A) FFA g, @A (R) TT 2 |
[Question ID = 715][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q145]
1. 1 [Option ID = 2857]
2. 2 [Option ID = 2858]

3. 3 [Option ID = 2859]
4. 4 [Option ID = 2860]




") S Gie Tg AT ATHC HGAT 65 F2d g, A1 7 Ao ATH 007 Fed @ | TAr
(1) 5 gia % forw F |=a grae 9T #iad g |
(2) 3 Tg 914 g & 791 ar-g7=ar Has adt Pufadi § @R g 2 |
(3) 3 TH ATIT H TATZTTH 219 % [o7 SATHT0 FT ITIH Fd 2 |
(4) FF AT ATAT-OaT 7 9T F e e wqEy g |
[Question ID = 716][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q146]
2. 2 option 0 - 2862

3. 3 [Option ID = 2863]
4. 4 [Option ID = 2864]

12) qTErAT] § THATT a9T §@7 JAT9erds ©&7 § 92 AT J9T AT T g
FTAT_ 7

(1) ATATT AT

(2) T AT

(3) FhRITHAT

(4) P RepreraT
[Question ID = 717][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q147]
1. 1 [Option ID = 2865]
2. 2 [Option ID = 2866]

3. 3 [Option ID = 2867]
4. 4 [Option ID = 2868]

13) w7 5 F7 forerret Fgar g & st Iwar S AT 9T § A FAr g ar 9w
AHEAT {9 gl § A" 99 TgAT A g0 a9dT 2 | T2 F979 39 =9 7T

ATHAT Feed & JEA TATAT g FHI1% A8 FAT B |
(1) #Hrwae =7 ArherT

(2) s F oo st

(3) H1aw F =T H ArFerT

(4) Hraw | SR

[Question ID = 718][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q148]
1. 1 [Option ID = 2869]
2. 2 [Option ID = 2870]
3. 3 [Option ID = 2871]
4. 4 [Option ID = 2872]



) ATIT AR FT 2T
(1) wear foreAmet 7 SO F9aae=F i AT § #7971 ITAeg

(2) ST YO AT AR ITATS
(3) farearT it 9ot IATATeE
(4) FararT = aror-fagoraT

[Question ID = 719][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q149]
1. 1 [Option ID = 2873]
2. 2 [Option ID = 2874]
3. 3 [Option ID = 2875]
4. 4 [Option ID = 2876]

15) EE 9T T AR faer
(1) fevearfarai =t Iehr 9TUT ST B F T F ATEATE GTUT ITASH FIAAT &
(2) ferearfarai gren arsT-geaw St forew & Faer gm7 Fwar
(3) FRreqTf¥at =1 It ATUT % T 7 ATET FIL A1q g0 ATIT T FFATI FHLIAT
(4) ToreaTtoart & =a7 & 35 UTST-a5] UF AT FT AT AT S
[Question ID = 720][Question Description = CTET_P1_PART_5_L2_SET_102_HINDI_Q150]
1. 1 [Option ID = 2877]
2. 2 [Option ID = 2878]

3. 3 [Option ID = 2879]
4. 4 [Option ID = 2880]






